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1. 

. 

.

1.1. 

:

1. : , 
, 

,  ( . 1), 
. 

.
 1.

, 

m ; ; m( 4) = 30 
Ar  Ar ) = 12

 Mr  Mr 2 ) = 18
v ) v ) = 1,1 

M ,
2) = 44 

V , , 3 V( 2) = 10 

Vm
,

3 22,4 

 ( )
,
3,
3

2 ) = 1 3

D
2HD ) = 14

 % 2) = 19%

 % 2) = 0,025
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2. , 
 ( )  ( ) 

.
3. 

. , 
, , 

. ,
, , 

. .
4. , 

.
5. , 

 ( . . 1 – 3. ) .

1.2. 

.

. 
. 

.

, : 

.

, , 
, 

, 
:

Q = 215,5949  = 215,59 .

Q = 243,3768  = 243,38 ;

, 
, , 

 ( )  ±1 .
, 
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 = 1,24 3  = 1,24 ± 0,01 3,

 = 1,240 3   = 1,240 ± 0,001 3.

: 
, . , 

, 
, !

, 
, 

. 
. 

.

.

, ,
, 

 (
). 

,
, , 

.

,  37,6; 9; 182,84, 0,7513.
 9 – 

, . 
, 

) , , 
 9:

37,6 = 37,6; 182,84 = 182,8; 0,7513 = 0,8.

, 
:

37,6 + 182,8 + 0,8 = 221,2.
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, 
 9, . 

. :
221.

, 
.

.
, 

, 
, , ,

. 
, . 

, 
, ,  (

).
, :

 = (2,718281828 • 37,2) / 0,539676

 37,2, 
, .

, 
 ( ,  37,2):

2,718281828 = 2,718; 0,539676 = 0,5396.

:

 = (2,718 • 37,2) / 0,5396 = 187,37879911045218680504077094144.

.  187, 
, . , :

 = 187.

.  –
. , 
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, . ,

, . :

(3,14)4 = 97,21171216 = 97,2.

6 482  = 2,8058784617697 = 2,81.

.

. , 
:

:

;03,3410403,3
10
103,403

10
10

47,31
160,99

)10()10(
10)10(

7,32,1
2,514,3

)107,3()102,1(
102,5)1014,3(

00037,012,0
00052,00314,0)1

1
11

10-

)]24(31[

)]4(32[

2431

432

23

3

2431

432

23

3

).0000252,0(102,52102,52353

10
10

6485,9
93,231,8

106485,9
1093,21031,8

96485
29300831,0)2

5-4)-2(-3

4

)23(

4

23

.

.
 n,   10

( ), .
,  (Ig)

:

        271,800 2,718 102

      7843,76 7,84376 103

5048237 5,048237 106

            0,00000000000067 6,7 10-13

            3,1400 3,1400 10-0

            0,000000082367 82367 10-8
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 1  (1 = 100);

 1000  (1000 = 103);

 0,000001  -6 (0,000001 = 10-6) .

:

).10.,.(10 nn XnggX

 = 2,71828182 ..., 
 (  – )  

ln:

)..,.( yy eXyennX

 (10, ) 
log.

:

1.  –

;)( ogYogXYXog

2. 
 –

;ogYogX
Y
Xog

3. 
,  –

;ogXnogX n

4. ,
 –

Xog
n

Xog n 1 .

!
)
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 – , 
. 

antilg –

.10 Xnganti n

) –

Xey yexp .

1.  4 , 1,2 , 0,6 
 16 . ?

: 22 .

2.  2  3 2. ,
2  2,801 • 10-2  2,02  •  10-3

?
: 6,21 • 10-2 .

3.  Y = 1/8,314 2 :
) 1 = 2500 2 = 2,5··104;

) 1 = 500 2 = 5··102;

) 1 = 2,500·104 2 = 500,0.

4.  Y = :
) 0,0458  7,58; )  2,48; )  10;

) 7,47  1,325; )  0,742; )  1·108.

) 4,98  0,235; ) 10 ;

5.  Y =
:

) 9,49  3,75; )  3,15·10-3; ) 10,00  5,49·10-1.

) 0,349  7,78; )  1,41·108;

) 4,952  2,73; ) 10  5,49;.
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6.  Y = 3255,19 nx
1, 2 3:

) 1,35, 2,24  12,6;

) 3,2·10-2, 2,3  0,027.

7. Y :
:

nXY
2

1
281,5 x

xY n XY 2168,21 xnxY n

X n 1x 2x n X n x1 x2

1 0,0458 7,58 25000 2,5 104 3,75 9,49 1,35 2,24 12,6
2 8,25 0,38 5,0 106 300000 10,5 3,14 4,44 15,3 2,50
3 0,0005 3,81 160000 1,5 107 2,62 6,50 2,65 1,25 11,8
4 9,21 0,20 40500 3,0 103 25,12 1,75 5,15 45,7 6,8
5 0,0013 2,25 3,1 104 275000 3,25 8,22 1,75 1,07 10,5
6 7,45 1,325 500 5 102 0,349 7,78 3 10-2 2,3 0,27
7 6,55 1,227 800 8 102 0,451 5,33 7 10-2 4,7 0,12
8 8,11 -2,05 250 2,5 102 0,179 3,55 1 10-2 1,25 1.00
9 3,25 2,15 370 3,7 102 1,11 9,98 2 10-2 4,66 0,06
10 4,18 0,88 490 4,1 102 1,452 6,37 4 10-2 3,25 0,01
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2. 

2.1. 

. 
.

2.1.1. 

). 
. 

.

2.1.1.1. 

, 
, - 

, ,
.  118 ,

,  96 ( .
):

1) 6 ,
2) 6 ,
3) 38 ,
4) 11 ,
5) 7 ,
6) 14 ,
7) 14  ( ) ,
8) .

2.1.1.2. 

, 
:

: I III  IV  V VI  VII  VIII
1-   
2- B  C  N  O  F Ne
3- Si   P S  Cl  Ar
4- As  Se  Br  Kr
5- Te   I Xe
6- At  Rn
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2.1.2. 

 ( ) – , 
 ( ).

.

2.1.2.1.  –

 ( .  .  1),  
,   ( ),  
 -2.

 1.

.  II . II-IV
.  IV

.  II
 II

Na2O, CaO,
FeO, CrO, MnO

BeO, ZnO, Fe2O3,
Cr2O3

Mn2O7, CrO3,
CO2, P2O5

CO, NO, N2O

, 
, 

, 

1.  +  =  ( )

CaO + SO2 = CaSO3;

2.  +  =  + 2  ( )

3K2O + 2H3PO4 = 2K3PO4 + 3H2O

3.  +  =  ( )

Na2O + H2O = 2NaOH
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1.  +  =  ( )

O2 + H2O = H2CO3,

    SiO2 – ;

2.  +  =  + 2  ( )

P2O5 + 6KOH = 2K3PO4 + 3H2O;

3.  +  =  ( )

CaO + SO2 = CaSO3;

4.  ( )

CaCO3 + SiO2 = CaSiO3 + CO2.

, :

1. ZnO + 2HCl = ZnCl2 + H2O;
2. ZnO + 2NaOH + H2O = Na2 Zn(OH)4  ( );
3. ZnO + 2NaOH = Na2ZnO2 + H2O ( ).

2.1.2.2. – Y Z

 = 1 – ;  = 2 – ;  = 3 – )

 ( . . 4. ), 
 ( )

 ( y z
-).

HCl, HBr, HI, HF, H2S HNO3, H2SO4 .

H2 + Cl2 = 2HCl
 +  = 

SO3 + H2O = H2SO4

:
2NaCl .) + H2SO4( .) = Na2SO4 + 2HCl
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1. :
HI > HClO4 > HBr > HCl > H2SO4 > HNO3 > HMnO4 > H2SO3 > H3PO4 >

> HF > HNO2 > H2CO3 > H2S > H2SiO3.

!

2. :

. . 

3.  H2:
 + . HNO3) =  + H2  ( . )

Zn + 2HCl = ZnCl2 + H2

4.  ( )  – :

+  =  + 2  ( . )

CuO + H2SO4 = Cu SO4 + H2O

5.  – :

 +  = + H2O ( . )

6. ,  – 
, :

2NaCl .) + H2SO4( .) = Na2SO4 + 2HCl ( . )

7.  ( . H2SO4; H3PO4)

 =  +  ( . )

HMnO4 = MnO2 + 2 ,

H2CO3 = CO2 + H2
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2.1.2.3.  – )

 = 1 – ,  = 2 – ,  = 3 – )

,  ( ) 
 (NH4

+)  (–OH¯).

 ( )
1.  + H2O =  + 2
2Na + 2H2O = 2NaOH + H2
2.  + H2O = 

Na2O + H2O = 2 NaOH

 +  =  + 
CuSO4 + 2NaOH = Cu(OH)2 + Na2SO4

1) :

(OH  = H+) (OH  > H+)

2) 

 +  =  +  – 

2KOH + CO2 = K2CO3 + H2O

3) 

 +  =  +  –  ( )

Ca(OH)2 + 2HNO3 = Ca(NO3)2 + 2H2O

4) , 

 +  =  +

+  ( ) – 

FeCl3 + 3NaOH = Fe(OH)3  + 3NaCl
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1)  – 

(OH)n  +  =  + 

2) 

(OH)n  = M xOy + H2O – 

 ( )

1. : Zn(OH)2 + 2HCl = ZnCl2 + 2H2O

2. : Zn(OH)2 + 2NaOH = Na2 [Zn(OH)4]

2.1.2.4. – x z)n

,   ( +) 
 ( )  ( ¯) 

 ( z
-):

Na2SO4 NaHSO4 Mg(OH)Cl  K2NaPO4

Ca  OCl
  
 Cl

Na[Al(OH)4]

1. :

 +  = 

Fe + S = FeS

 ( 2) +  ( ) =  + 2

Zn + 2HCl = ZnCl2 + H2

2. :

 +  =  + 
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SO3 + 2NaOH = Na2SO4 + H2O

 +  =  + 

CuO + H2SO4 = CuSO4 + H2O

 +  = 

Na2O + CO2 = Na2CO3

3. :

 +  =  + 

HCl + NaOH = NaCl + H2O

4. :
1 + 2 = 3 + 4

NaCl + AgNO3 = NaNO3 + AgCl

 +  =  + 

CuSO4 + 2NaOH = Cu(OH)2  + Na2SO4

 +  =  + 

2NaCl + H2SO4 = 2HCl  + Na2SO4

: , 
 ( ), 

1. , , ,  ( .
)

2. :

CaSO4 = CaO + SO3

. :

2KClO3 = 2KCl + 3O2).
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2.2. 

.

2.2.1. 

. , 
.

, 
, . 

,  – 
 ( -, -, -, - ). :

N2  –  ( ) ;

 –  ( ) , ;

N2 3 –  ( ) ;

2 –  ( V) , ;

N2 5 –  (V) ;

3 –  (VI) , ;

l2 7 –  (VII) ;

4 –  (VIII) , .

:
V4 , r3 , 6 . :

V4  – ,

6  – .

2.2.2. 

 ( )
, 

¯. , 
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. :

n( )2 –  (II) ,

n( )3 –  (II ) .

.

,
, 

, :

Sn( )2 –  ( ) , Sn( )4 –  ( V) .

2.2.3. 

.  ,  
, , -

),  ( . . 4. ). 

: , , -
. , 

. 
. :

2 –  ( ) ;

3 –  ( );

2 3 –  ( );

2 4 –  ( );

 –  ( );

2 –  ( );

3 –  ( );

4 –  ( ).
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, 
-,  – -,

3 – ,

3 4 – .

:

r – ,

2S – ,

 – .

2.2.4. 

: 
 ( . . 4.

), :

4 – ;   3 – .

:

2 3 – ,

3 – ,

2 3 – ,

3 – ,

4·7 2  – .

, 
- ( -), 
. , 

, -, -; -,
, :

2 4 –  ( ),
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2 4 –  ( ).

, 
- -, -

. 
, 

-, -, - .. ,
:

l( l2 – ,

l( )2 l – ,

g2 l2 – .

1.  – 
?

: :
) ;   ) ;   ) .
) ;   ) ;   ) .
) ;   ) ;   ) .
) ;   ) ;   ) .
) ;   ) ;   ) .

f ) ;   ) ;   ) .
N ) ;   ) ;   ) .

Ne ) ;   ) ;   ) .
2.  – 

?

: :

) ;   ) ;   ) .
) ;   ) ;   ) .
) ;   ) ;  ) .
) ;   ) ;   ) .
) ;   ) ;   ) .
) ;   ) ;   ) .

3. l2?
A. ;   B. ;   C. ;

D. ;   E. 
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4. :
A. )2 B. 2  C.   D. Cl2  E. CO3

5. 
. :

A. Ca(HS)2 · 6H2O;  B. CaS · 6H2O; C. CaSO3 · 6H2O;

D. Ca(HSO3)2 · 6H2O;  E. CaSO4 · 6H2O

6. +

¯ ?
A. Zn(OH)2 B. Ca(OH)2 C. NaOH

D. H3PO4 E. Sr(OH)2

7. , :
A.   B. C. 

D.   E. 

8. ,  KMnO4:
A.   B. C. 

D.   E. 

9. :
A. MnO  B. MnO2  C. Mn2O7

D. Cr2O3  E. CrO3

10. :
A. Cr2O3  B. CrO  C. CrO3

D. MnO  E. Mn2O7

11. 
:

A. Mg, MgO  B. Al, Al2O3 C. Fe, FeO

D. C, CO2 E. Cr, Cr2O3

12. ,
 “ ” 

, :
A. B. C. 

D. E. 
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13. , :
. 

B. ,  –

C. 

D. 

E. 

14. , 
ZnSO4 .  ,  

:
. B. C. 

D.   E. 
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. 

1. 

 ( ) – ,
, , -

.

. : :

2NaOH + H2SO4 = Na2SO4 + 2H2O

,  NaOH 
H2O, 1/2  H2SO4  1/2  Na2SO4, 

 (NaOH) = NaOH
 (H2O) = H2O

} 

 (H2SO4) = ½ H2SO4
 (Na2SO4) = ½ Na2SO4

} 

 – ,  6,022 × 1023

.

)
, .

:
 (NaOH) = r (NaOH) = 40 ;
 (H2SO4) = ½ r (H2SO4) = ½  98  = 49 ;
 (Na2SO4) = ½ r (Na2SO4) = ½  142  = 71 .

, 

, 
 – f .

:
 (NaOH) = 1;
 (H2SO4) = ½;
 (Na2SO4) = ½.

 1.
 (Fe(OH)3) :

)  Fe(OH)3 + 3HCl = FeCl3 +3H2O;
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)  Fe(OH)3 + 2HCl = FeOHCl2 +2H2O;

)  Fe(OH)3 + HCl = Fe(OH)2Cl + H2O.

. :

1.  (f ) ( ) – , 
 ( , ) 

 (H+) 
.

2.  – 
, 

.

3. 
,

.

, 
 (Fe(OH)3) :

)  (Fe(OH)3)
 (OH), , 

 (F )  (Fe(OH)3)  1/3:

f  (Fe(OH)3) = 1/3.

,  (Fe(OH)3)
 107  ( ), 

 (Fe(OH)3) 

M  (Fe(OH)3) = 107  1/3 = 35,67 ( ).

)  (Fe(OH)3)
 (OH), , 

 (f )  (Fe(OH)3)  1/2:

f  (Fe(OH)3) = 1/2.
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,  (Fe(OH)3)
 107  ( ), 

 (Fe(OH)3) 

M  (Fe(OH)3) = 107  1/2 = 53,5 ( ).

)  (Fe(OH)3)
 (OH), , 

 (f )  (Fe(OH)3)  1:

f  (Fe(OH)3) = 1.

,  (Fe(OH)3)
 107  ( ), 

 (Fe(OH)3) 
):

M  (Fe(OH)3) = 107  1 = 107 ( )

:

- 
)  1/3, 

35,67 ;

- 
)  1/2, 

53,5 ;

- 
)  1,  107 .

. , 1809):

, :

)(
)(

)(
)(

bE
E

bm
m

b

a ,

  ma  mb – a b, ( );
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(a) (b) – , ( );

(a) (b) – , ( ).

, 
, ,

:

)(
)(

bV
m

b

a
)(
)(

bV
V

b
,

  ma – , ( );

(a) –  ( ) ,

);

Va, Vb –  ( .), ( );

V ( ),  V (b) – 
 ( .), ( 3 ).

 V  – , 
.

 1 
 22,4 , 

 11,2 ,  – 5,6 .

. 
, , :

rfe
z
r)( ,

  r – , ( );

z – ;

f  = 1/z – .

,
), :
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n
r )()( ,

  r – , ;

n – .

n
r )()( ,

  r – , ;

n – , .

zn
irie )()( ,

  r – , ;

n – , ;

z – .

zn
r )()( ,

  r – , ;

n – , ;

z – .

 2.  16,74 
 21,54 . 

. 
?

. :

:

)(
)(

)(
)(

bE
E

bm
m

b

a
)()( bMe

m
aMe

m ba
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, ,
, 

 Me O:

 + 2 = 2 .

, 
 ( ):

m(O) = m(Me O) – m(Me ).

:

m(O) = 21,54 – 16,74 = 4,8 ( ).

:

)(
)(

)(
)(

Me
m

Me
m

:

)(
)()()(

Om
OMeMemm .

:

)/(9,27
8,4

874,16)(

:

) = ) · n · z

: n – , ,

z – .

:

M( ) = 27,9 · 1 · 2 = 55,8 ( ).

, , 
, 

.
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,  55,8 ,  (
) –  (Fe).

,  (FeO) 
71,8 ,  (FeO)

:

zn
r )()(

:

)/(9,35
21
8,71)(FeO

:

-
27,9 ;

-  55,8 ;
-

35,9 .

1.  5,00  9,44 .
.

: 9,01 .

2.  0,200    3,17 
. .

: 127 .

3.  1  1,4 . 
 21 ,  1/2 ?

: 10 .

4. ,  3,24 
 3,48  3,72 .

: 108  16 .

5. , 
,  8,34  0,680  (
).
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: 137,4; .

6. ,  65,2% ( .) As, a
 75,7% ( .) As. 

.
: 15,0 ; 24,9 .

7. 1,00  8,89  1,78 .
, , 

 16,0 .
: 79,9 ; 9,0 .

8.  16,8  14,7 
. , 

 ( ).
: 56,0 ; 3,36 .

9.  1,80  883 ,
. 

.
: 24,2 ; 16,2 .

10. ,  27,9
,   700  ,  

. .
: 1,74 .

11. 1,60  2,61 
. , , 

 20,0 .
: 32,6 .

 ( : )

1. :
) ;

) ?

2. :

)
1

2
2

1
m
m ) m1 2 = m2 1
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3. . 
:

) ; ) ?

4. 
:

) 11,2  O2  22,4 2;   ) 11,2 2  11,2 2;

) 5,6 2  11,2 2.

5.  12 . 
:

) 24 ; ) ; ) 20 ?

6.  2 , 
. :

)  1,5 ; )  2 ; )  3 ?

7. l3 r2(SO4)3:
) ,  ) ?

8.  FeCl2  F l3:
) ,  ) ?

2. 

-
, 

.

:

  ,

,

V.

:

1)  – :
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 = const , ,

1V1 = 2V2, V = const.

 1.: ,  3 ,
 93,3 . , , ,

 2,8 ?

: 

2 1 = V1/V2

, 2, :

2/93, 3 = 3/2, 8,

:

2 = 93,3 · 3/2, 8 = 100 .

2)  – :

 = const

V1/T1 = V2 2,  V/  = const.

 2.:  27°  600 , 
 57° , ?

:  V2, 
2.  V1 = 600 ,

1 = 273 + 27 = 300° 2 = 273 + 57 = 330° .

, :

600/300 = V2/330,

V2 = 600 · 330/300 = 660 .
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3)  – :

 V  =  const

1/T1 = 2 2,  = const.

 3.:  15°  91,2 · 102 . 
 101,3 · 102 ?

: 2. 
T1 = 273 + 15 = 288°K, P1 = 91,2 102 . 

, , 

2 = 101,3 · 102 · 288 / (91,2 · 102) = 320°  47° .

:

P1V1/T1 = 2V2 2, V/  = const.

 4.:  25°  99,3 
 152 . ,  0°
 101,33 ?

: 

PV/T = 0V0 0,

:

V0 = 0 0  = 99,  · 152  · 273°  / (101,33  · 298° ) = 136,5 .

 1834 . 
. 

 1874 .  1 
R:

PV = RT,

  R = P0V0 0 = 8,314 /( ) = 0,0821 /( ).
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v
v:    V = v· ,

, , ,
:

PV = (m/M) · RT

. 

, V , .

.

 ( .) :

0 = 1  = 101,325 

:

0 = 273,15°  = .

.:

Vm = R 0 0 = 8,314 · 273,15/101,325 = 22,413 .

 22,4 ( ) 
 Vm = 22,4  / .

,  SO2.  M(SO2)
 64 . ,  SO2  64  

 ( .),   22,4  ,  
6,02 · 1023 .

. :

v = V/Vm = V / 22,413 .

v = PV / (RT),

,  R 
. , ,
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. 

:

1) V = vRT/P = v·(RT/P).
 = const  = const. , 

V1/v1 = V2/v2,  V ~ v.

,  ( ),
 (RT/ ) 

.  ,  
:

(
) .

. 
.

2) 
:

 = m/V = /R =( /R )· .

 = const  = const. , 

1/M1 = 2/M2,       ~ M.

, 
. 

, , 
. 

:

DA(B) = (B) (A) = M(B)/M(A).

2.1. 

, 
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. ,
.

 ( ) 
, , 

.

, 
, , 

.

 5.  2   4   SO2, 
,  100 ;  6 . 

.

: 
 6/2 = 3 ,  –  6/4 = 1,5 . 

. 

2) = 100/3 = 33,3 ,

p(SO2) = 100/1,5 = 66,7 .

:

, 
, 

, .

 6.:  2,  4  2  6   N2.  
2,  2,  N2  96, 108  90,6 . 

 10 . .

: 

2) = 96·3/10 = 28,8 ,

2) = 108·4/10 = 43,2 ,

p(N2) = 90,6·6/10 = 54,4 .

 ( ) 
):        ) = 28,8  + 43,2  + 54,4  = 126,4 .
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2.2. 

, 

, 
.

)  (
).

 7.  1 , 
 21% ( .)?

. ,  1 ,
 0,21 . , 
 0,21 2:

1      22,4 

   »   »       0,21 ,

x 0094,0
4,22

121,0
2

1.  17°  580 . 
 100° , 

?
: 746 

2. ,  2,5 ,  121,6  (912 . .).
, , ,

 1 ?
: 303,9 .

3. , 
 0° , ?

:  273 .

4.  27°  720 . .  5 . 
 39º  104 ?



41

: 4,8 .

5.  7°  96,0 . 
,  -33° ?

: 82,3 .

6.  1  773 . 
 0° ,  93,3 

(700 . .)?
: 839 .

7.  12°  100 
(750 . .). , 
30° ?

: 106,3 .

8.  12  0°
 15,2 . , 

, ?
: 1,8 3.

9. , 
 12,5 ,  17° . 

20,3 . 
?

: 114° .

10.  2  H2 (P  =  93,3  )   5  4
 = 112 ).  7 . 

.
: PP HH 0,80;7,26

42
.

11.  NO 2. 
 (  %), 

 36,3  70,4  (272  528 . .).
: 34% NO, 66,0% CO2.

1. , 
, :

) ;
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) ;

) ?

2. 
:

) t = 25° , P = 760 . .;

) t = 0° , P = 1,013 · 105 ;

) t = 0° , P = 760 . .?

3.  1  "
"

) V = 22,4 ;

) V = 1 ;

) V = 1 3;

) V = 22,4 3;

) V = 100 .

4.  " " 
) P = 105 , T = 273°K;

) P = 105 , T = 298°K;

) P = 1 , T = 273°K;

) P = 10 , T = 273°K.

5.  5,6  H2S . . ( )?
) 8,5; ) 7,9; ) 8,8;

) 9,0; ) 8,0.

6. . 
:

) O2 = N2;

) O2 = 0,875 N2;

) O2 = 1,14 N2 ?
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7.  22 . 
:

) 42%;

) 21%;

) 10,5%?

8. ,  – 
. 

. :
) ;

) , , ;

) , , ?

3. 

, 
,   ( )

. , 
 ( , , , )

. .

 – , 
, , , 

,  12 
12 .

,  1 
( ),  – 

 6,02 · 1023 -1.

,  1  ( ),
, 

.

 1. 2.
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. 2  44,0. , 
O2  44,0  .   1  2  6,02  ·  1023

. :

m =
231002,6

0,44  = 7,31 · 10-23

:

, 
, 

.

, 
.  1 -

. , 
 1 . 

 (0° ,
 101, 325 )  22,4 .

 2.
 100º . 

,  
?

.

2 + 2 = 2 2O

2 2

2O.

, 
 1,5 . 

, , 
,  1,5 

.

 3. ,  5,25  26°
98,9  (742 . .).
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.  N2 (28,0 )
, ,  5,25 

28,0   22,4 

5,25 »   »   » V0

V0 =
0,28

4,2225,5  = 4,20 

:

2739,98
2992,43,101

0

00
PT

V TVP  = 4,71 .

3.1. 

, 
.

A.

 4.  1,17. 
.

. , 
 (m) 

 ( )

2

1

2

1

M
M

m
m ,

 m1/m2 – , 
 D.

, :
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17,1
2

1

M
MD .

:  29,0 .

:

1 = 1,17 · 29,0 = 33,9 ,

,  33,9.

.

 5. , 
 0,824  0,260 .

.  1 
22,4 .  22,4 , 

.

0,824  0,260 

             »     »     »            22,4 ,

:

x 0,71
260,0

824,04,22

,  71,0 , 
 – 71,

.
 – 

 –  ( )
 (m, ),   ( ,  ),   ( ,  )   (V,  3)

 ( , ):

RT
M
mPV .

 R – ,  8,314 /(  · ).
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 R :

62,36  · . . · -1 · -1      1,987  · -1 · -1,

, ,
, .

 6. , , 
600  87°  83,2  1,30 .

.  (  =  8,32  ·  104 ;
V = 6 · 10-4 3; m = 1,30 · 10-3 ;  = 360° ) 

 – , :

./0,78/3100,78410641032,8

36031,831030,1
M

 78,0.

3.2. 

, 
. 

.

, 
, .

 ( ).

, .

 7. , 
68,4% ( .) .

.
. 

,  52  16. 
 52  : 16 . 

 68,4 : 31,6. :



48

52  : 16  = 68,4 : 31,6,

:

 :  =
16

6,31
:

52
4,68  = 1,32 : 1,98

, 
:

5,1:1
32,1

98,1
:

32,1

32,1
: yx ,

;

x : y = 2 : 3

, r2 3.

 8.  2,66 
1,54 2  4,48  SO2. .

. , 
. 

.

, , 
2. 2  44 ; 

1 2  12 .  m, 
 1,54 2:

44 : 12 = 1,54 : m;

m = 12 · (1,54/44) = 0,42 

,  4,48 
SO2,  2,24 .

,  0,42  2,24 
. 

 (2,66 ), .

 ( )  ( ) 
:
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2:1070,0:035,0
32
24,2

:
12
42,0

: yx

,  CS2.

.

 9.  12,5% ( .)
.  16. 

.

.  ( ) 
 (y) :

2:15,12:25,6
1

5,12
:

14
5,87

: yx

 N 2. 
,  16. 

, :

 = 2 · 16 = 32.

, 
. , 

 N2H4.

3.3. 

. ,
, , , 

, — . 
. 

. , :

FeCl3 + 3NaOH = Fe(OH)3 + 3NaCl,

, :

1/3 FeCl3 + NaOH = 1/3 Fe(OH)3 + NaCl.
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, 
.  1

.

, 
, 

. 
.

.

 10.  100  H2SO4

 SO3 :

SO3 + H2O = H2SO4.

,  SO3

.? ?

. , 

:

: SO3  +  H2O  =  H2SO4

 ( .): 80 18 98

: 80   18   98 

: 1   1   1 

: ?  ?   100 

(? )  (? )  (? )

,  100 :

100 /98  = 1,02  H2SO4,

,  SO3  1,02 

1,02  · 22,4  = 22,85 .

 1,02 
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1,02  · 18  = 18,4 .

 ( ), 
, .

. ,  SO3,  
. 

 100 ?  SO3

:

2S + 3O2 = 2SO3.

 2, 
 1  SO3 (

). :

: S  +  3/2 O2  =  SO3

 ( .): 32 32 80

: 32   32 80 

: 1   3/2 1 

: ? ? 22,85 

(? )  (? ) (1,02 )

,  1,02 

1,02  · 32  = 32,6 .

:

3/2 · 1,02  = 1,53 ,

. 

1,53  · 22,4  = 34,27  O2.

, 
, 

, 
.
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, 
. , , 

:

NaOH  +  HCl =  NaCl  +  H2O

0,1 0,3 0,1   0,1 

, 
0,1 ,  0,2  HCl .

1.  1,00 
?
: 2,69 · 1019.

2.  27 · 1021

?
: 1 .

3.  0,001 3  ( , 101,33 )  1,25 . :
) ;

) .

: 28 ; 4,65 · 10-23 .

4.  0,001 3  0,0021 .
.

: 47 ; 1,62.

5.  0,875. 
.

: 28,0.

6.  17°  104  (780 . .)  624 
 1,56 . .

: 58,0.

7. ,  ( ) 43,4%
, 11,3%  45,3% .
: Na2CO3.
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8. , 
, ,  1: 3: 4: 7.
: COH4N2.

9. , ,  2,73 
 1,53 .

: V2O5.

10.  ( ) 26,53% , 35,37% 
38,10% . .

: K2Cr2O7.

11. , , 
36,6  5,4 .

: BaCl2 · 2H2O.

12. ,  34,0  AgNO3, , 
 NaCl.  

?  AgCl ?
:. 28,7  AgCl.

13.  3,00 ,  5,30 O2,
.  (

) ?
:. 94,6%.

C

1. 2 l2.  
:

) ;

) ;

) ?

2. ,  1 l  1 l2
(T ):

)
2ClHCl VV ,

),
2ClHCl VV

)
2ClHCl VV ?
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3. r . 
. :

) r,

) 2 r2;

) 2 r?

4.  NH2. 
,  1,1:

) NH2;

) N2H4;

) N3 6?

5. 2. 
,  1  1 

:
) 3 6,

) 2H4;

) 4 8?

6. , 
 15:

) NO;

) N2O;

) NO2?

7.  16,8  H2 ( ). 
 N2  N 3:

) 11,2 ,

) 5,6 ;

) 8,4 ?

8. 3  11,2 2. 
, , 

:
) 56 ,  ) 112 ;  ) 28 ?
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 II. . 

1. 

, ,
,  

, l, l ms.
, 

, l, l, .

:

 = 1; 2; 3; 4; 5; 6;  7,

l = 0; 1; 2;  3,

l = -3; -2; -1; 0; 1; 2; 3,

ms = ½  -½ .

 ( ) 
, 

. 
, l,  0, 1, 2  3, 

 s-, -, d-  f - .

.

 ( ):

, 
.

, 
, 

(ms) , :

.

, 
 ( ),  (l)    ( . .).
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1-  –
 (  + l);

2-  –
(  + l) – 

.

:
!

. 1. ,
.

 1.

(n + l) n l
1 1 0 1s 
2 2 0 2s

2 1 2p
3

3 0 3s
3 1 3p

4
4 0 4s
3 2 3d
4 1 4p5
5 0 5s
4 2 4d
5 1 5p6
6 0 6s
4 3 4f
5 2 5d
6 1 6p

7

7 0 7s
5 3 5f
6 2 6d
7 1 7p8

8 0 8s

:

:
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 Cr, Cu, Nb, Mo, Ru, Rh, Pd, Ag, Pt, Au  " "
 s-  d-

, 
, : 

6s  5d,  4f, 
 4f

, 
 5d.

 7s, 6d  5f.

 1.
 4 ?

.  4  ( .  .)   + l, 
 4 + 1 = 5.  + l  3d

(3 + 2 = 5)  5s (5 + 0 = 5).  3d 
 ( , =  3),   4 ;   3d  

,  4 . , 
 4  5s, 

 ( , = 5).

, :

, 
 (ms) .

, 
.

 2.

.

.  (Si):
1s22s22p63s23p2. 

 ( ) ,  3s2-, 2-  
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 3d- . 
:

3d

3p

 3s

 3p-
: 

 (½ + ½ = 1).

 3 , ,:

   3p                                            3p

                                                     

(½ + -½ = 0) , , .

 3s-
; 

,  (1s22s22p63s13p3),
:

3d

3p

  3s

, ,
, 

. 
.
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 3.
? 

?

. :

l –   1s22s22p63s23p5;

Mn – 1s22s22p63s23p63d54s2.

 – 3s2 5,  – 3d5 4s2; 
, 

. 
 – 7.

, .

1. 
, 

l = 2? l = ?
: 5; 7.

2. 
 = 4?

: 32.

3. 
, + l:

) 5,  ) 6, ) 7.

: ) 3d  4p  5s;  ) 4d  5p  6s;   ) 4f  5d  6p  7s.

4. , :
)  4d;

)  4 .

: ) Ag; ) Ga.

5.  5s?
: 4d.
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6.  4f? 
?

: Ce;  Yb.

7. 
 5 ?  5d?

: 6s;  6p.

8. :
) 8;  ) 13; ) 18 ) 23; ) 53; ) 63;         ) 83.

.

9. 
:

) 1p3;  ) 3p6;  ) 3s2;  ) 2s2;  ) 2d5;  ) 5d5; ) 3f12; ) 2p4; ) 3p7.

10.  3d- :
) l; ) V; ) n?

11. :
) ; ) S; ) As; ) r; ) Hg; ) u?

12.  Fe2+  F 3+. 

 Fe3+?

1. : 6C, 12Mg,
16S, 21Sc.

2. :
) 1s22s22p4,

) 1s22s22p63s23p1,

) 1s22s22p63s23p63d64s2.

? 
.

3. : ... 3p3.
?
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4. 
Z = 12.

5. ,
18Ar:

Ca2+,   Cl¯,   K,   Na+,   S2-,   As3-,   Al3+?

6. :
2s,   4f,   2p,   3d,   1p,   2d,   1s,   3f?

7.  NH3?
8.  Z = 3  Z = 19. 

?
9. 

. 
, 

? :
O,   Na,   Al,   Mg,   F.

10. , 
. 

 Z = 3  Z = 9. 
, : 

,  – 
?

11.   Z  =  7   Z  =  15.  
?

12. 
Z = 23.  ( )

.
13.  –  Z = 17  Z = 18. 

 – . ,
, . 

. ?
14.  (

Z = 6). 
?

15. 
:

)  F,      )  Na2+.

16. , , 
. , 

:
) F    F¯        ) Na    Na+      ) F¯    Ne ) Na+  Ne.
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17. 
: ... 5p3. ? 

 " " 
.

18. 
: ... 3d8. ? 

 8-  d-
19. 58Ce.
20. 

19K. 
 ( ) 

.
21.  " " 

:
n = 4, l = 1,  ml = -1,  ms = -½ ?

.
?

22.  " " 
:

n = 2, l = 1,  ml = 0,  ms = -½ ?

. 
? 

? 
?

23. 
, :

1s22s22p63s23p2.

24. 
, :

1s2 2s2 2p6 3s2 3p4.

25. 
, :

1s2 2s2 2p6 3s2 3p6 4s2 3d6.
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2. 

, 
.

, .

, 
. 

,
, , ).

 – ,
 ( 2, l2 .).

 –
, 

 (Cs+F , Na+Cl , +Cl .).

,
. 

, 
,  –

. , 
; 

, .
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, , 
 ( . . 5. ).

, 
.

2.1. 

 ( . . 5 ), 
,  ( ) 
. 

.

 1.
)2,  – Mg, 

Sr, :

) –O 
;

) ?

. . 1 
 (

):

Mg–O = 3,5 – 1,2 = 2,3;

–O = 3,5 – 1,04 = 2,46;

Sr–O = 3,5 – 0,99 = 2,51.

 1,4.

:

) –O 
, ;



65

) 
, :

)2 = 2+ + 2OH¯;

, 
,  OH¯.

: 
.

 ( ) 
:

1. 
, 

, .

, 
 ( ), 

 – , 
 –  (

).

2. , 
. 

, 
.

 2.

2  — H2S — H2Se — H2Te?

.
 ( , S, Se, ) , 

. 
,
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. 
:

 — S — Se — 

. 
,  

.

 3.  SiF4  SiF6
2-.

 CF6
2-?

.  1s22s2 63s2 2.

:

3d

3p

  3s

 1s22s2 63s1 3,  
:

3d

3p

  3s

 (1s22s2 5), 
,  SiF4.
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 SiF6
2-  SiF4

 F  (1s22s22p6), .

3d- .

 (1s22s22p2) , ,  CF4,

, 
),  CF6

2-

.

 ( ) , 

 (
),  ( ) 

. 
, 

. 
, ;  –
.

, 
: 

. 
, .

, 
. 

 (  –
).

 ( , 1s- ), 
, ; 

 ( ),  –
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 ( ) 
.

.  
, 

.  ( ) 

. 
, .

, 

.

 4.
2
+

2.

.  He2 . 

:

,  –
.  ,  ,   0,5,  

.

, 2 , 
, , 

,  – . , 2

. 
 – .
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1. 2, Cl2, HCl. 
.

2. ,
-Cl, -Cl, Fe-Cl, Ge-Cl. 

?
3.  NCl3, CS2, NF3, OF2, ClF,

CO2? 
.

4. Cl3 :
) ;

) .

5. 
 (  –   Cl,  r,  l)  

:
)  

;

) .

6. 
-As. ? 

 As(OH)3?
7.  :  HF  –  HCl  –  r  –  Hl?

.
8. F3

 BF4¯
9. 

4, NH3  NH4
+. 5

+  NH4
+?

10. 
4
+?

11.  NO  NO2
.

12. 
 C2N2.

13.  CN 
. 

?
14. 

2, F2, BF. ?
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1. :
) , ) ; ) ?

:

1) ;

2) ;

3) .

2.  HF  SiF4:
) ;   ) ?

:

1)  HF ,  SiF4 ;

2) ;

3) 
;

4) ;

5)  HF 
.

3. 2:
) ;   ) ?

:

1) 2 ;

2) 2 .

4. :
a) Na,   ) 2;   ) NO;   ) ;   ) CN?

5. 
:

) 2
+,   ) 2;   ) 2

¯;   ) 2;   ) ?
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2.2. .

. 
. 

, 
. 

, 
.

. 

; 
. 

.

 (
) 

:

1. 
.

2. 
 (

). , 
:

F  < l  < r  < l ;

Li+ < Na+ < + < Rb+ < Cs+

 18-  ( , Cu+,
Cd2+) , 
(Na+, 2+ .).

 ( ,
) 
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. 
, 2+, 2+) , 

 (T 2+, Fe2+, Pb2+ .).
 ( )

 18-  (Cu+,
Ag+, Zn2+, Cd2+, Hg2+). , , 

, 
, . 

; 
.

 5.  Na+  Cu+  (0,098 ). 
 (801° ) 

 ( ) (430° ).

.  Na+  Cu+

.  Cu+  18-
,  Na+, 

.  ( )

, .
 CuCl , 

 NaCl,  – 
. 

CuCl  NaCl, 
.

2.3. 

, 
, 

 – .

. 1. .

, , . , 
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 –  (HF)n, 
:

 8 – 40 .

. 1. .

, 
.

 6. ,  –
. ?

. , . 
; 

. (
H2S  – 

. 
).

, 
, , 

.

, 
, . , , 

 – 
,  – 

.
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2.4. 

. , 
, , 

, 
, 

. 
: , .

 7.  (  ° ) 
:

Ne              Ar                r                                        Rn

 4,3            27,2            87,3          119,9        165,0          211,2

?

.

. 
, 
. , 

,
. 

.

1.  CaCl2 —  780°C,  CdCl2 — 560° ; 
2+  0,104 ,  Cd2+ – 0,099 . 

.
2.  CsF  Csl 

. 
.

3.  (I)  (I).
4. 

AuCl3  AuCl  PbCl4  PbCl2.
5.  2 3  890° , Ag2CO3

 220° . .
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6. BaCl2 , a HgCl2
. .

7. ? 
 Ne, N2,

HJ, l2, F3, 2 ?
8. F3, Cl3, r3 l3  172°,

286°, 364°, 483° . .
9.  NF3, PF3  AsF3  144°, 178°,

336° . .

1. :
a) Na+;   ) 2+;   ) Mg2+;   ) Al3+?

2.  – SrF2 bF2 – :
)  SrF2,   ) bF2;   ) ?

:

1)  Sr2+  Pb2+ ;

2)  Sr-F , b-F.

3.  – MgCO3  ZnCO2 – :
a) MgCO3,   ) ZnCO3?

:

1) , 
 – ;

2) 
, 

 18-
.

4. , , 

, .
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2.5. 

2.5.1. 

,

, , ,
.

 (  – 
) , , 

, 
. 

 ( ) 
, . 

. 
, 

, .
, 

, -, - 
.

,  (
) 

 (
); 

.

, , 

. ,
, 
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, 
, , . 

. 
.

 8. l3 ·  5N 3

 2/3 , .  
. 

, 
. ? 

.

. 3+

, 
. , 

,  AgNO3. , 
 [Co(NH3)5Cl]2+. 

, :
[Co(NH3)5Cl] l2. 

:

(N 3)2 l] l2 = [Co(NH3)5Cl]2+ + 2Cl ,

.

, 

; 
.

 9. ,
 ( ):

a) [Cr(H2O)5Cl]?,
) [Cr(H2O)4Cl2]?;

) [Cr(H2O)2(C2O4)2]?.

.  (III)  +3, 
, - 
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 -1  -2. 
:

) +3 + (-1) = +2;

6) +3 + 2·(-1) = +1;

) +3 + 2·(-2) = -1.

, :

a) [Cr(H2O)5Cl]2+,
) [Cr(H2O)4Cl2]+;

) [Cr(H2O)2(C2O4)2]-.

1.  PtCl4 · 6NH3
,  PtCl4 · 3NH3 –

 1/4 , . 
, 

.
2. , 

rSO4·5N 3. 
,  BaCl2 , 
 AgNO3, , ,  AgNO3,

 BaCl2. 
.

3. ,  0,2335 l3·4N 3,
 AgNO3. 

AgCl  0,1435 . .
4.  CrCl3·5H2O.  ,  

 6, , 
0,1 .  AgNO3

,  200  0,01 
; , , 

, .
5. 

, :
a) K4[Fe(CN)6]  CuSO4;

) Na3[Co(CN)6]  FeSO4;
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) 3[F N)6]  AgN 3,

, 
.

6. ,
:

(N 3)5 ], r(NH3)4 O4],

g(N 3)2], r( )6].

(N 3)3(NO)3], u(H2O)4].

7. 
:

[Fe(CN)6]4 , [Ni(NH3)5Cl]+, [Co (NH3)2 (NO2)4] ,

r( 2O)4 r2]+, [AuCl4] , [Hg(CN)4]2 .

2.5.2. 

 –
,  – , 

.  –
, ,

:

F¯ – , l¯ – , 4
2– – ,

3
2– – ,  N 3– – , N¯ – ,

S¯ – .

: ¯ – ; + – ,
2– – , S2– – .

 – 
, , ), 

,  – . 
, 

-, -, - . 
: 
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, 
. , 

, .

, :

(N 3)3 l3] – .

, 

 – ,  – , 
),  – . 

. :

g(N 3)2 4 –  ( ) ,

u(N 3)4]S 4 –  (II) .

: , 
 – . 

,  – 
.

, :

3 (N 2)6] –  (III).

 10. : [Pt(NH3)3Cl]Cl, 

[Co(NH3)5Br]SO4.

.

[Pt(NH3)3Cl]Cl – ),

[Co(NH3)5Br]SO4 – ).

 « ».
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 11.  Ba[Cr(NH3)2(SCN)4]2  (NH4)2[Pt(OH)2Cl4].

.

Ba[Cr(NH3)2(SCN)4]2 – ) ,

(NH4)2[Pt(OH)2Cl4] – (IV) .

, 
, , 

, 
. , [ t(N 3)2 l2]  –

.

1. :
[Pd(H2O)(N 3)2 l] ,  [ u(N 3)4](N 3)2,  [ 2 )(NH3)4CN]Br2,

o(N 3)5SO4]N 3, [Pd(NH3)3Cl]Cl, K4[Fe(CN)6],

(N 4)3[Rh 6], Na2[Pd 4], K2[Co(NH3)2(NO2)4],

K2[Pt(OH)5Cl], K2[Cu(CN)4].

2. :
) ;

)  ( ) ;

)  (II);

)  (III) ;

)  ( );

)  ( );

)  (II);

) .

3. :
r( 2O)4 O4], u(N 3)2(S N)2],  [Pd(NH2OH)2Cl2],
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[Rh(N 3)3(NO2)3], [Pt(NH3)2Cl4].

4. :
) ; ) ;

) ; ) .

.

5. : )
) . .

6. , 
 [ (N 3)5 2O)] 3,  –

 [ (N 3)5 l] l2. 
.

2.5.3. 

, , 
 [Ag(NH3)2]Cl :

[Ag(NH3)2]Cl  [Ag(NH3)2]+ + l .

. , 
:

[Ag(NH3)2]+  Ag+ + 2NH3

, . 
[Ag(NH3)2]+, , 

, 
:

8

23

2
3

. 108,6
])([
][][

NHAg
NHAg

K

.
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, 
.

, , 
:

[Ag(NO2)2] [Ag(NH3)2]+ [Ag(S2O3)2]3   [Ag(CN)2]

1,3.10 3 6,8.10 8 1.10 13 1.10 21

 [Ag(CN)2] ,  – [Ag(NO2)2] .

. 6
.

, 
, .  

,
. ,

, , 

.

 12.
d( )2,  – 

 CdS. ,  0,05 
K2[Cd(CN)4],  0,1  KCN, , 

 CdS?
 [Cd(CN)4]2  7,8.10 18.

.  Cd(OH)2  CdS  
:

[Cd2+] · [ ]2 > PCd(OH)2, = 4,5 . 10 15

[Cd2+] · [S2 ] > PCdS = 8 . 10 27.

Cd2+  ( .  1):
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CN
CNCdK

Cd /109,3
)1,0(

05,0108,7
][

])([
][ 15

4

18

4

2
4.2 .

, 
, :

Cd
OH OHd /1

109,3
105,4

][
][ 15

15

2
)( 2 .

, 
,  1 , 

[Cd(CN)4]2  + 2O  Cd(OH)2 + 4CN

.

:

12
15

27

2
2 102

109,3
100,8

][
][

Cd
S CdS .

, :

d( N)4]2  + S2  CdS + 4CN ,

.

 ( . . 6 ).

1. , 
. 

:
a) g( N)2] + N 3 ) K[Ag(N 2)2] + N 3

) [Ag (N 3)2 l + NiCl2 ) K2[Hg 4] + KBr

) K2[Hg 4] + KCN e) [Ag(NH3)2]Cl + 2S2O3
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) 3 u( N)4] + Hg(NO3)2 ) K[Ag(CN)2] + 2S2O3

2.  Ag+  0,1  [ g(N 3)2]N 3,
 1  N 3.

3.  0,1  K2[Cd(CN)4],
, , 6,5  KCN.

4. ,  0,5    0,1 
 Na3[Ag(S2O3)2], 

, , 0,1 .
5.  1    0,1 

 [ g(N 3)2]N 3,  1 :
) 1.10-5  KBr, ( AgBr = 6 . 10-13);

) 1.10-5  K , ( PAg  = 1,1.10-16)?

6.  1    0,1 
g(N 3)2]N 3,   1,5 l   1 

 AgCl? Ag l = 1,8.10-10.
7.  0,08  [ g(N 3)2]N 3, 

 1 ?  NaCl  1 
 AgCl? Ag l = 1,8.10-10

1.  [Ag(NO2)2]  [Ag(CN)2]
 1,3 . 10-3  8 . 10-21. 

 Ag+  K[Ag(NO2)2] (C1)  K[Ag(CN)2] ( 2)
:

) C1 > 2, ) C1 = 2; ) C1 < 2?

2.  Ag
g(N 3)2]N 3,  K[Ag(CN)2] 

. 
 [Ag(NH3)2]+ (K1)  [Ag(CN)2]  (K2):

a) K1 > K2; ) K1 = 2; ) K1 < K2?

3.  [Ag(NH3)2]+  [ d(N 3)4]2+

 (  9,3.10-8  7,6.10-8). 
 ( Ag+ Cd2+)  

 [Ag(NH3)2]Cl  [Cd(N 3)4 l 
, , , 0,1  N 3:

) CAg+ > CCd2+;     ) Ag+  CCd2+;     ) CAg+  CCd2+.
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 III. 

1. 

, ,
:

•  – U;

•  – ;

•  – S;

•  ( ) – G.

, 
, , .

:

1)  ( U < 0), 
 ( );

2)  ( U > 0), 

 ( ).

 Q  ,  
:

U = Q – .

 U, Q .

 ( V = 0,
)  ( ,

),  (A = V) 
, :

U = Qv,

 Qv –  (
), . 

 Qv < 0,  Qv > 0.
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1.1. 

, 
 (  = 0, ). 

 U, , 
:

H = U + P V.

, , 
,  ( ) 

 ( ).

, 
 ( U)  (P V)

H = U + P V,

, 

H = Qp,

 Qp – , .
 Qp < 0,  – Qp > 0.

, 
.

(  – ), 
(101,325 ,  760 . .).

. 
 «º» – , Uº H°.

 1 

,  ( ).
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, 
, .

,  (
), . 

, , :

 ( .) +  ( .) = b ( .) + 2 ( .); H° = – 64 ;

:

 ( .) +  ( .) = b ( .) + 2 ( .) + 64 

, 
(II) 1 ,  64 .

 ( .), ( .)  ( .) 
 ( . – ), .

, 
 1840 . .  ( ) 

:

 (
)

, 
, .

, ,
.

 1.
 ( ° = –393,5 ) :

 ( ) + 2N2O ( .) = 2 ( .) + 2Na ( .); ° = – 557,5    (1),

 N2  ( .).

. , 
 N2O :

N2 ( .) + 1/2 O2 ( .) = N2O ( .); ° =    (2)

O2 ( .)  
:
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 ( ) + 2 ( .) = 2 ( .); ° = –393,5    (3)

 (2)  (3)  (1). 
 (2)  (3).

:

 ( ) + 2N2O ( .) = 2 ( .) + 2N2 ( .); ° = (–393,5 – 2 )  (4).

 (1)  (4), :

– 393,5 – 2  = – 557,5,

 –

 = °(N2O ( .)) = 82,0 .

, 
, , :

.)

.)

.).

. = . – .

, 
,  (n) , 

.

 2. . 10. , °
:

2Mg ( .) + 2 ( .) = 2MgO ( .) +  ( )

. . 10. 
2  MgO  –393,5  –601,8 

, 
). :

° = 2 · °(MgO) – °(CO2) = –601,8 · 2 + 393,5 = –810,1 .
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1.2. 

, ,
:

1) 
 (  – 
);

2) , 
, 

 ( ).

:  
,  – .

 ( , ) 
 S – ,

,
.

, ;
 1  ( ) 

/(  · ).

 10 .

. 
, , , 

, , , 
. .

 ( . .10. ).

 3. , 
:

NH4 3 ( .) = N2O ( .) + 2 2  ( .) (1)

2H2 ( .) + 2 ( .) = 2 2  ( .) (2)



91

2 ( .) + 2 ( .) = 2 2  ( .) (3)

.  (1) 1 , 
,  3 , , S1 > 0 (

).

 (2)  (3) , 
, 

, S2 < 0 S3 < 0.

S3 S2, :

S (H2O ( .)) < S (H2O ( .)).

, 
:

, S .)
, 

(S° .)
(S° .).

S . = nS° . – nS° .

, 
, .

1.3. 

, 
H S) 

,  (G):

G = H – TS

 – .

, , , , 
. 

:

G° . = H°  – T S° .,
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H° . S° ., :

.

G° . = G° . – G° .

, 
.

 ( G°)  1 
; 

, 
.

, ,
.

 – 
, 

 ( G° < 0).

. 1  ( ) 
H, S G.

,  < 0 ( ), a
S  >  0,  ,  

G° < 0; , 
.

H < 0 S < 0,  ,  H 
, 

S; S 
, 

. , 

, 
. , . 1,

, 
, .
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 1

H S

H S G

–  +  – 6 6 .) + 7,5 2 .) = 6 2 .) + 2  ( .)

+  –  + - N2 ( .) +2 2 ( .) = 2N 2 ( .)

–  –  ± 2 ( .) + N2 ( .) = 2NH3 ( .)

+  +  ± N2 4 ( .) = 2N 2 ( .)

 4.
. :

) S ;

) G ;

) .

. ) , G < 0.
H > 0, G = H – T S , S > 0;

S < 0.

) , G < 0. , 
G > 0.

) ,  –  ( H < 0).
 T S , 

G H. , 
.
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 5. H, S, G 

 ( .) + 2 ( .) = 3 ( .)

 298° . 
G ?

. , 
G  <  0.  

, 2, 
3; , , 

, 
S < 0. , 

G = H – T S

G – , 
(T S) . , H < 0. 

 – T S 
, G .

H, S, G 
, . 

, ,
H° ,  S°

G° , , ,
 ( , ),

; 
, .

. 10 ,
.

 6. :

Cl2 ( .) + 2H  ( .) = 2 ( .) + 2 l ( .) (1)

2 ( .) + H2S ( .) = 2H  ( .) + S ( .) (2)

 298 ? 
?
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.
G°298 . . 10 

° S°  ( )  H  (1,8),
l    (-95,2)  H2S (-33,8).  (1)  (2) :

G°1 = 95,2 · 2 – 1,8 · 2 = –194,0 

G°2 = 1,8 · 2 – (–33,8) = 37,4 

G°1

 (1); G°2 ,  (2) 
.

S°
.  (1) 

, ,  (2) – . 
, S°1 < 0 S°2 > 0, :

G º = Hº – T Sº

 – T Sº  (1) ,  (2) – .
,  ( ) 

Gº1  ( ), Gº2 –
 ( ). , 

 (1) 
 (2) .

 7. , , 
 298  2500°

:

iO2 ( .) + 2  ( ) = Ti ( .) + 2  ( .)

Hº S° .

. .7 Gº 
)   298° iO2 (-888,6)   (-137,1).  

:

G°298 = -137,1 · 2 – (-888,6) = 614,4 

, G°298 >  0,  2

 298° .
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G°2500

Gº = Hº – T Sº.

, , 
Hº S°  298° . Hº S° 

.7 Hº 
) 2 (-943,9)  (-110,5),  S°

/(  · ° ) 2 (50,3),  (5,7), Ti (30,6)  (197,5).

:

H º = –110,5 · 2 – (-943,9) = 722,9 

S° = 30,6 + (197,5 · 2) – 50,3 – (5,7 · 2) = 425,6 – 61,7 = 363,9 /( ·° )

G°2500 , S° /( ·° )

G°2500 = Hº2500 – T Sº2500 = 722,9 – (2500 · (363,9 : 1000)) = 722,9 – 909,8 =

= –186,9 .

,  G°2500 <  0   TiO2

2500° .

. 10 )

1.  2,1  3,77 .
.

2.  ( Hº298) 3,
:

3 ( .) + 4 O2 ( .) = P2O5 ( .) + 3 2  ( .); Hº = –2360 .

3. Hº298 :
) 2 6 ( .) + 7/2 2 ( .) = 2 O2 ( .) + 3 2O ( .)

) 6 6 ( .) + 15/2 2 ( .) = 6 2 ( .) + 3 2O ( ).

4. , S° 
:

a) 2NH3 ( .) = N2 ( .) + 3 2 ( .);
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) 2 ( .) = 2 ( .);

) 2NO( .) + 2 ( .) = 2NO2 .);

) 2 2S ( .) + 3 2 ( .) = 2 2  ( .) + 2SO2 ( .);

) 2CH3OH ( .) + 3O2 ( .) = 4 2O ( .) + 2CO2 ( .).

5. G°298 , 

 25°
) NiO ( .) + b ( .) = Ni ( .) +  ( .)

) b ( .) +  ( .) =  ( .) + u ( .)

) 8 l ( .) + 3 F 3O4 ( .) = 9 Fe ( .) + 4 l2O3 ( .)

6. H°, S°, G° 
 ( .) + 2 ( .) = 3 ( .),

 298° . G° 
?

7. , 
, 

H, S?
8. , , 

 25°
u ( .) + ZnO ( .) =  ( .) + Zn ( .)

.

9. , 
 ( ) 

:
) 2N2 ( .) + O2 ( .) = 2N2O ( .);       H 298 > 0

) N2 ( .) + O2 ( .) = 2NO ( .);          H 298 > 0

) 2NO ( .) + O2 ( .) = 2NO2 ( .);     H 298< 0

) N2 ( .) + N 2 ( .) = N2 3 ( .)        H 298 < 0

) N2 .) + 2O2 .) = 2N 2 .);        H 298 > 0
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1. :
2 ( .) +  ( .) = 2  ( .) (1)

2 ( .) + 1/2 2 ( .) = 2  ( .) (2)

 ( .) +  ( .) = 2  ( .) (3)

     :

) Hº2 < Hº1 < Hº3;

) Hº2 > Hº1 > Hº3.

2. , ,
:

) ;

) 
;

) 
, .

3. , , 
:

) MgO ( .) + 2 ( .) = Mg ( .) + 2  ( .)

)  ( ) + 2 ( .) = 2  ( .)

)  ( .) = ¯ .) + + ( .)

) 4  ( .) + 2 ( .) = 2 2 ( .) + 2 2  ( .)

) NH4 3 ( .) = N2O ( .) + 2 2  ( .)

4. 
:

) H < 0,   S > 0;

) H < 0,   S < 0;

) H > 0,   S > 0?

5. G°298
bO2 ( .) + b ( .) = 2  ( .); G° < 0;
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SnO2 ( .) + Sn ( .) = 2SnO ( .); G° > 0.

     , 

     :

)  +2,    +2;

)  +2,    +4;

)  +4,    +2;

)  +4,    +4.

6. G°  263° :
) G° > 0;

) G° = 0;

) G° < 0?

2. 

, 

, ( )
 ( ).

,  
, 

.

, ,

.

V = ± / ,

 « » , 
 (  > 0),  « » – 

,  (  < 0).



100

2.1. 

, 
 ( , ), 

:

.

, 

 + 2 2

:

V = k [ ] · [ 2]

 [ ]   [B2] - 
,  k – 

, .

.

, 

 + 2 2

:

 +  + 2

, , 

V = k [A] · [B] · [B],

V = k [ ] · [ ]2.

.
, ,

:

l + O2  2 l2 + 2 2 ,
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, 
 ( ) . 

, 
.

, 
, 

.

 1. :

) 2NO ( .) + l2 ( .)  2NOC  ( .),

) 3 ( .)  ( .) + 2 ( .)

.  ) V = k [NO]2 [Cl2];

)  – , 
, :

V = k,

.

 2. :

2NO ( .) + 2 ( .) = 2NO2 ( .)

 3 ?

. :

V1 = k [NO]2 · [ 2]

. , :

V2 = k (3 [NO])2 (3 [O2]) = 27k [NO]2 [O2]

 V1  V2, , 
 27 .
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2.2. 

 ( ) 
:

tk

k

tV
V tt 1010

  Vt  kt –  t°C;

Vt + 10    kt + 10 –  (t + 10° );

 – , 

 2 – 4 (

       ).

, t°C, 
:

10
t

tk
t

k

tV
t

V
tt

 3.
2,8. 

 20  75° ?

. t  =  55° ,  ,  
20  75°  V1  V2, :

5,510
55

8,28,2
1

2
V

V

 V2/V1 = 287. ,  287 .

, 
:  

 ( ), , 

. 
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, ; 
– 

),
,  

, . 
 « » 

, 
.

 k 
(Ea, ) :

RT
aE

ePZk ,

 Z  –  ;   –  
; R – 

(8,314  · -1 ·  °K-1);  – 
 = 2,718...);  –  ° .

, 
, .

 4.  A 

;
 k1 <  k2  k2 >  k3. 

, .

. 1. .
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. , 
 – 

 ( . 1). 
 ( ) 

 k2, 
, 

 ( . . 1 ).

 – 
 ( .  1),  

 (k2 >  k3) 
,   ( "'  >  "). 

,  
.

, 
 (  >  0),   ( )

, 
), . , 

, 
 > 0.

2.3. 

. 

, 
. 

.

,   Ea
, 

. , 
 ( ) 

, , , 

.
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 5.
 75,24 ,  – 50,14 . 

,
 25° ?

.
,  – 'a; 

 k  k'. ,
:

RT
aEEa

RT
aE

RT
Ea

e

e

e
k
k )(

,

:

RT
aEEa

g
RT

aEEa
gn

k
k

k
k

k
k

30,2
30,2

, 
,  = 298° , :

40,4
298314,830,2

3101,25
298314,830,2

310)14,5024,75(
k
k

g

: k'/k = 2,5 · 104.

,  25,1 
 25 .

1. 
 + ,

,  0,05 
0,01 ,  5 · 10-5 /(  · ).

2. 
 + 2 ,
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 2 , 
 2 ?

3. 2

2 ( .) + 2 ( .) = 2 2  ( .),

 4 
?

4. :  – 1 
 2 ,   – 2  1 .

. 
, 

:
)  V1 = k1 [A] · [ ];

)  V2 = k2 [A]2 [B]?

5. 
3A + B  2C + D

     :

] = 0,03 ;

] = 0,01 ;

] = 0,008 .

?

6. :
 + Cl2 = COCl2

 0,03  0,12 , 
 –  0,02  0,06 . 

?

7. :
 + 2 .

:

]0 = 0,03 ,
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]0 = 0,05 .

 0,4. 

,  0,01 .

8. 
2NO ( .) + 2 .)  2 2 .)

:

)  3 ;

)  3 ;

)  NO  3 ?

9.  25° .
 2,0,

 – 2,5. 
95° .

10. 
2,3. , 

 25 ?
11. ,

 30 
 15,6 ?

1. 
2NO + O2  2N 2,

      2 :

)  4 ;

)  8 ;

)  4 ;

)  8 ?

2. 
:
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) ;

) ;

) ;

) ?

3. 
:

) ;

) ;

) ;

) ;

) ?

4. 

) ;

) ;

) ?

5. ,
:

) ;

) ;

) ?

6.  20°  10-4 -1,  
 50° .  8 · 10-4 -1. 

:
) 2,

) 3,

) 4?
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3. 

; 
. , 

, , 
, 

. 
, 

, 
, .

:

 + b C + dD

 (V )  (V ) 
:

V  = k  [ ]  · [ ]b; V  = k  [C]  · [D]d

V  = V

k  [ ]  · [ ]b = k  [C]  · [D]d.

:

K
BA
DC

k
k

ba

d

][][
][][ .

 – .

, , 
.  – 

, 
 ( ) 

 ( ).
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,  « » ,
.

, 
, , 

, 
, , .

, 

.
, 

.

 1. :       ( .) + 2  ( .) =  ( .)

: [ ] = 0,06 ; [ ] = 0,12 ;

] = 0,216 . 
.

. :

2][][
][
BA

CK

, :

5,2
)12,0(06,0

216,0
2K

, ,
,  1  2 

1 . 
 0,216 , 

0,216  0,216 · 2 = 0,432 .

, :

0] = 0,06 + 0,216 = 0,276 ;

0] = 0,12 + 0,432 = 0,552 .
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 2.  8   SO2  4  2.
. 

 80%  SO2.
, 

 300 .

. : 2S 2 ( .) + O2 ( .)  2SO3 ( .)

,  80%, 

8 · 0,8 = 6,4  S 2

 1,6  SO2.

 2  SO2  1 2,
 2  S 3.  ,   6,4   SO2

 3,2 2  6,4   SO3; 

4 – 3,2 = 0,8 2.

, 
: 8 + 4 = 12 , :

1,6 + 0,8 + 6,4 = 8,8 .

. , 
 ( ) : 12 : 8,8 = 300 : ,  –

.220
12

3008,8
P

 ( , , 
, ) 

, .

. 
:

, ,
, 

, .



112

, 
, , 

.

, , 
 ( . . 1.).

. 

.

 3. :

)  ( .) + Cl2 ( .)  COCl2 ( .)

) 2 ( .) + 2 ( .)  2H  ( .)

?

. 1.  ( 2 > 1) 
 –  « » :

)  NO2 ( );
)  NO2  ( ).

. ) 
, 

.  ,  ,  
.

) , 
. 

.
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G , :

G  = – 2,3 RT lg .

 298°  (25° ) 

G 298 = –5,69 lg 298

G 298 .

, G
,  lg  > 0,  > 1, , –

 lgK < 0,  < 1. , 
G

; G

. , G

, 
.   (

) G, G .

 4. , 
, 
:  ( ) + 2  ( .)  ( .) + 2 ( .)

. ° S° .

.

G°T = –2,3 RT lg T

, T = 1 
.

G T = T — S

, T = S

:
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T

T

S
T

, 
298  S 298 , 

. 10 :

298 = ) – 2 ) = –110,5 – ( –241,8) = 131,3 ;

S 298 = S ) + S 2) – S  ( ) – S (H2O) =

= 197,5 + 130,5 – 5,7 – 188,7 = 133,6  = 0,134 .

:

T = 131,3 : 0,134 = 983° .

1. :
FeO ( .) +  ( .)  F  ( .) + 2 ( .)

 0,5. 
2, 

: [ ]0 = 0,05 , [ 2]0 = 0,01 .

2. :    2 ( .) + 2 ( .)  2  ( .)
: [ 2] = 0,025 ;

2] = 0,005 ; [H ] = 0,09 . 
.

3. :
2NO2 ( .)  2NO ( .) + 2 ( .)

: [N 2] = 0,006 ;
[NO] = 0,024 . 

 N 2.

4. :
2 ( .) + r2 ( .)  2 r ( .)
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 K  =  1.   (
) , 

 3 2  2  Br2.

5. :
 ( .) +  ( .)  ( .) + D ( .)

. 
,  3  5 

?

6. :
 ( .) +  ( .)  ( .) + D ( .)

: [ ] = 0,05
; [ ] = 0,02 . 

4 · 10-2. .

7.  N2 4  2N 2, 
 N2O4  0,08 , 

 50% N2O4.
8. :

 ( .) + 2 ( .)  2 2 ( .); ° = -566 

N2 ( .) + O2 ( .)  2NO ( .); ° = 180 

) ?

) ?

9. :
2 ( .) + 2 ( .)  2 2  ( .); ° = –483,6 

3 ( .)  ( .) + 2 ( .); ° = 179 

) ;

) ?

10. , 

2 +  ( )  2  ( .)
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1. ?
1) CO ) + H2 )  CO2 ) + H2 );
2) 2CO2 )  2CO ) + 2 );
3)  N2 ) + O2 )  2NO );
4) 2SO2 ) + O2 )  2SO3 );
5) 2HCl )  H2 ) + Cl2 ).

2. 
?

1) CO ) + 2H2 )  CH3OH ), H < 0;
2)  H2 ) + C3H6 )  C3H8 ), H < 0;
3) 2NH3 ) + O2 )  N2 ) + 3H2 ), H > 0;
4)  N2 ) + O2 )  2NO ), H > 0.

3. , 
:

2NO ) + 2 )  2N 2 )

. ,
, .
: 

 – .
).

4. , 

    : 2SO2 ( .) + O2 ( .):  2SO3 ( .)  2 , :

) 

    ;

)  2 

    ;

) ;

) ;

) ?

5. :

l ( .) + 2 ( .)  2 l2 ( .) + 2 2O ( .)
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:

) 2;

)  Cl2;

) ;

) ?

:
4F  ( .) + 3 2 ( .)  2F 2O3 ( .)

:

) ;

) ;

) ?

7) :
 ( .) +  ( .)  ( .)

    ,

    ° :

) ;

) ;

) ;

) 
?

8) G° < 0. 
:

) ;

) ;

) ;

) ?
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 IV. 

1. 

 – , 
.

,  (
) 

 ( , ), 
.

,  (
, 

), 
». 

 « » 
.

.
:

1. – ,  100 
, 

 %:

 =
mm

m
;

% = · 100% = (%),

, ,:

m = )(
100

% m ,

m  = )(
100

%

m

 m  – , ; m  – 
, .
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2. ( )  – 
,  1  ( 3) , 

, 3:

 = )/(
V

m ,

, ,:

m  = )(V ,

V = )(
m

3.  ( )  m  –  
 1 . :

.  ( m) :

m
i mM
m

 = ( ),

 m  – , ; m  – 
, ; i – , .

.
4.  ( )

– ,  1 
3) , , 3:

 =
V

m
 = ( ),

, ,:

m  =  V = ( )

V  =
m

 = ( )

 V  – ;  – 
, .

:
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M .  =
z

,

   – , ;

z  = n –  ( );

   –  ( );

   –  ( );

   – 

       ( ).

5. T – , 
 ( ),  1 :

T =
V
m

 = ( ).

. . 1 
.

, 
.

 1.  96%-  ( )  (  = 1,84 )

 1
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 100  15%-  (
)  H2SO4 (  = 1,10 ).

.  100  15%  H2SO4. 
:

m . = V . ·  = 100 · 1,10 = 110 .

 H2SO4,  110 , :

m . =
100

% m 15 · 110 : 100 = 16,5 .

 96% ,  16,5  H2SO4.  1  
 1,84 :

1,84 · 0,96 = 1,77  H2SO4.

,  H2SO4 :

16,5 : 1,77 = 9,32 .

,  100  15%  H2SO4  9,32 
96%  H2SO4    110 – 16,5 = 93,5 .

 2.  250  50 
FeSO4 · 7H2O. 

 (II) .

.  300 . 
:

% = %7,16
25050

10050%100
..

.

mm
m

;

 50 .
 FeSO4 · 7H2O  278 ,  FeSO4

 152 .  FeSO4  50   FeSO4 · 7H2O 
:

278 : 152 = 50 : ;

 = 50 · 152 : 278 = 27,4 .
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 300 :

% = %1,9
300

1004,27%100
..

.

mm
m

 3.  200  30%-
)  NaOH (  = 1,33 )  10% 

?

.  200  NaOH 

m . = V . ·  = 200 · 1,33 = 266 .

 30% NaOH, :

266 · 0,3 = 79,8 .

 10% 
. :

m . = .798
10

1008,79100

%

.m

, :

798 – 266 = 532 .

 4. , 
15% –  ( .)  H2 4 (  = 1,10 ).

.
,  1000 :

 85  15  H2 4

 1000  H2 4

 = 15 · 1000 : 85 = 176,5 .

 H2 4  98 ; :

m = 176,5 : 98 = 1,80 .
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,  1000 ,  1000 · 1,1  = 1100 
:

 100  15  H2 4,

 1100 . H2 4,

:  = 1100 .15 : 100 = 165 .

 98/2 = 49 . 
:

 = 165 : 49 = 3,37 ,

:

 = 165 : 98 = 1,68 .

 5.  2  6 l 
 500  3M ? 

.

.  500   3  0,5  ·  3  =  1,5  .
 6 , 

 2  (0,5 – ) .

 6  6 ,

 (0,5 – )  2  2 (0,5 – ) .

 1,5 ,
:

 + 2 (0,5 – ) = 1,5,

:

 = 0,125 .

,  125 
6  500 – 125 = 375  2 .
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1.1. 

.

,  13
.

, :

, 
100 .

, 
:

, 
.

:

, 
, 

.

,  ( , 
) 
.

 6.  60° 3  52,4% ( .)
. .

. :

 47,6 2  62,4 3

 100 2      -  »  -     3

:

 = 100 · 62,4 : 47,6 = 131 

, 3  60°  131  100 2 .
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 7.  300  15%-  ( ) 
, 

 8%. , ?

.  300  15%-  45 
 255 . , 

.  255 
:

92  8 ,

255           »         »          ,

 = 8 · 255 : 92 = 22,2 

, :

45 – 22,2 = 22,8 .

 8.  0°
 0,049  0,023. , 

20%( ’.) 2  80% ( ’.) N2,  0°
.  ( )

.

.  1  49 2  23 
N2. , 

 0,2 
0,8 . 

, , 
, :

49 · 0,2 = 9,8 2

23 · 0,8 = 18,4  N2;

:

9,8 + 18,4 = 28,2 .

:
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9,8 · 100 : 28,2 = 35% ( ’.) 2

18,4 · 100 : 28,2 = 65% ( ’.) N2.

1. , 
 40  360 .

: 0,1
2. ,  350 

 25%.
: 87,5 .

3.  600 
 20%, 

 80%?
4.  (  = 1,84 3) 

 10 
 1,42 3.

5. , 
 150  20%-  250  40%- 3AgNO .

: 32,5 %.

6.  96%- 42SO 84,1
 1  0,25 . ?

: 6,9 .
7. , 

10 ,  1,167 .
: 28% %; 33,3C ; 975,3m ;

3266,0T .

8.  38%-
,  1,286 .

 96%- , 
 20  20  30 ? , 

, .

: 3,32 42SO ; 9,324 O2 .

9.  2 32CONa
3  0,25 ?

: 187,5 .
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10.  40%- NaOH , 
 600 ,  10%- . : 200 .

1.  200 
20% ( =1,173 3)  500 

 40% ( =1,408 3). 
.

2. , 
 1000  1,5 

 = 1,19 3)  38%.
3. 

60%  10%,  600 
 0,3 ( =1,218 3).

4.  400 , 
20%,  350 . 

.
5. , 

 85 , 
 1650 .

6. 
 650 ,  125 .

7.  200 
 20% (  = 1,098 3), 

 1,5 ?
8.  0,25  16,8 

?
9.  1,5

 0,25 ?
10. 

 20% ( =1,143 3).
11.  12,2

 = 1,35 3)
12.  0,1

 Na2CO3·10H2O 
 540 

 0,15?
13.  7 , 

 ( ) 
20%?



128

14.  ( ) 
,  702 

 1,61%,  10,68% .
15.  ( ) ,

 80  320 
4%-  ( ) .

16. , , 
414  800  (  65,6 ) 

 200  (  37,2 ).
17.  300  600  157 

. .
18.  500

20  100 . 
.

19.  200  850

 150 
 10%. 

, 
65  100 .

20. ,  600 
 600 ,  200 .

 600  124  100 ,
 200  – 88  100 .

21.  300  (  = 1,129 3) 
 26%  3,5 , 
 20°  107  .  

.

2. 

,

 –
. -

: 
; 

; 

2.1. 

)
:
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p1 = N1·po;

 = p0 – p1 = N2 p0   0
21

2
nn

n ,

 p1 – ;
0 – ;   N1 – 

; N2 – ; n1 –
; n2 – .

 1.  25°  3,166 
(23,75 . .). 

 5%  ( ) CO(NH2)2.

. :

p1 = N1p0

 N1.

 100  5  (  60 )  95
 (  18 ). 

:

n1 = 95: 18,02 = 5,272 ;

n2 = 5: 60,05 = 0,083 

:

985,0
355,5
272,5

083,0272,5
272,5

21

1
1 nn

n
N .

, :

p1 = 0,985 · 3,166 = 3,119  (  23,31 . .)

2.2. 

t )
:

t  = K· m,
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 – ; m – 
.

:

  K

 – 1,86

 – 5,1

 –  1,73

 2. , 
,  250  54 

C6H12O6.

.  1000 2

54 · 4 = 216 .

 180 , 

m = 216 : 180 = 1,20  (  1000 2 ).

t  = K · m :

t  = 1,86 · 1,20 = 2,23.

, :

0 – 2,23 = – 2,23º .

2.3. 

 ( t )
:

t  = · m,
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 – ; m – 
.

:

   E

 – 0,52

 – 2,57

 –  1,16

 –  2,02.

 3. ,   8   100  
,  36,86° , 

 35,60° . .

. :

t  = 36,86 – 35,60 = 1,26 .

t  =  · m :

1,26 = 2,02 · m;

m = 1,26 : 2,02 = 0,624  1000 .

,  1000  80 
.          0,624 ,

:

M = 80 : 0,624 = 128,2 

,  128,2.

2.4. 

 ( .)

:
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. = C  · RT

 – , ; R – 
[8,31 /(  · .)];  – , ° .

 4.  20° ,   100  
 6,33  – ,  243,4 .

, 
 [  % ( .)] :

 – 64,6,    – 5,2,   N – 8,8,   O – 12,6      Fe – 8,8.

.  =   · R  ( )
:

243,4 =  · (8,31 · 293);

 = 243,4 : (8,31 · 293) = 0,1 

. 
,  1  63,3 ; 

0,1 . , :

63,3 : 0,1 = 633 ,

,  – 633.

. o 
,  ,  N,   Fe  ,  ,  z,  m   n,

:

 :  : z : m : n = 5,38 : 5,2 : 0,629 : 0,788 : 0,157 =

= 34,3 : 33,1 : 4,0 : 5,0 : 1 = 34 : 33 : 4 : 5 : 1

,  C34H33N4O5Fe.
:

(34 · 12) + (33 · 1) + (4 · 14) + (5 · 16) + (56 · 1) = 633 ,

, . 
, , :

C34H33N4O5Fe.
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1.  65° ,  13,68 
 C12H22O11  90  2O, 

 25,0 
(187,5 . .).

2.  10% 
CO(NH2)2  100° ?

3.  315°  8,2     (61,5 
. .). ,

 540  36  C6H12O6?
4.  293°  2,34  (17,53

. . .). 3 5 )3
180 ,  133,3    (1 .)?

5. , 
 100  9  C6H12O6?

6.  9  2 
 (  = 0,8 ). 

, , 
?

7.  5,0  200 
,  – 1,45° .

.
8.  13,0  400 

2 5)2O  0,453° . 
.

9.  3,24  40 
 0,81° . 

?
10.  0,5  C6H12O6

 25° ?
11. ,  16 

C12H22O11  350  2  293° . 
.

12.  C6H12O6    0,5  
,  ( ) 

,  ,   1   9,2  
3 5 )3?

13.  100  0,5  C12H22O11  300
. 

25° ?
14.  25°

1,24 .  0° .
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15.  1  1018 
.  298° .

1.  0° ,  1
 22,4  H2O:

) 1,01 · 102 ,  ) 1,01 · 105 ;  ) 760 . .?

2.  273° , 
 0,25  0,25  2 2 :

) 760 . .,  ) 380 . .;  ) 4256 . .?

3.  273° ,  250 
 5 2 5  ( 1

.), 5  C6H11O6 ( 2
.), 5

 C12H22O11 ( 3
.):

) 3
. > 2

. > 1
., ) 1

. > 2
. > 3

.?

4. 
C6H12O6,  ,  

:
) 1 : 1,  ) M  : MC6H12O6?

5.  1 , 
 0°  2,27         (17 .

.):
) 0,001 , ) 0,01 ; ) 0,1 ?

6. ,  0°
 2,27 :

) 0,1 , ) 0,01 ; ) 0,001 ?

7. ,  3
· 1023  250 2 :

) 273° ; ) 269,28° , ) 271,14° ?

8.  0,1%-  ( .)
 (t1;  M = 180)                       (t2;   =

68000):
) t1 > t2, ) t1 = t2; ) t1 < t2?
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3. 

 ( . 1.) , 
, 

, 
 – ,

.

. 1.  NaCl.

, , 
. 

 –
. , 

:

 H+ + CH3COO¯

 ( )  
:

][
][][

3

3

COOHCH
COOCHH

K .

 ( ) 
, ,  –

, 

.

 (
);
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)1(

2
MCK ,

 – , ;  –
.

, 
,  (1 )  1. 

:

MCK 2 ,

:

MC
K .

,  (
) 

.

, 
+ ¯ :

[A+] = [X¯] =  · C .

,
: +] = [ ] = MMM CKCKC / ;

, , 
, 

, :

K = – lg K.

, , ,
K , ,

K, .
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 1.  0,1
 1,32 · 10-2. 

K.

.

5222
1077,10132,01

1,0)1032,1(
)1(

C
K

  pK = – lg (l,77·10-5) = 5 — lg 1,77 = 5 — 0,25 = 4,75.

 = 2

:

 = (1,32 · 10 2)2 · 0,1 = 1,74 · 10-5,

    = 4,76.

 2.  ( )
 7,9 · 10-10.  HCN  0,001 .

.  HCN , 
:

4
3

10
109,8

10
109,7

C
K .

 3.  0,1M
 (  = 5 · 10-8).

. :

4
8

107
1,0

105
C
K ,

:
+] =  = 7·10-4 . 0,1 = 7.10-5

, 
:

CKH ][ ,
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 –

+] = 1,0105 8  = 7 · 10-5 .

, , 
), 

, 
. , 

 ( , )
3 ¯ , 

, :

3
+ + 3

.

 4.
0,2  (  = 0,8 · 10-4),  1 

 0,1  HCOONa? , 
.

. +  (
) :

+] = 2,0108,1 4  = 6 · 10-3 .

. 
 (0,2 – ). ¯ 

: , 
, , .

,  – 0,1 ; 
¯  (0,1 + ).

, :

4108,1
2,0

)1,0(
][

][][
x
xx

HCOOH
HCOOH

K



139

, 
 0,1  0,2 . 

K = 0,1x / 0,2 = 1,8·10-4

, ,
 HCOONa 

 6 · 10-3 / 3,6 · 10-4,  16,6 .

, , 
, , 

. , 
:

3 4  H+ + H2PO4 ;     (K1 = 7,5 · 10-3);

2 4  H+ + HPO4
2 ;    (K2 = 6,3·10-8);

4  H+ + PO4
3 ;        (K3 = 1,3·10-12),

.  K1 >  K2 >  K3, 
, 

, , .

 5.  K1  K2

 6 · 10-8  1 · 10-14. +, HS-  S2-

 0,1  H2S.

.  H2S 
, +, 

, ,  [ +]  [HS ].

:

+]  [HS ] 1,081061 CK  7,7 · 10-5 .

 [S2-] :
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][
][][ 2

2 HS
SHK

 [H+]  [HS-], 2  [S2-], 

[S2-] = 1·10-14 .

, 
 ( ) 

.
, 

 ( ),
, , ,

, 
, . 

 i , 

. 
:

21

2
0 nin

nipp

 p0 – ; n1 – 
; n2 – ; i –

.

t .

t .

:

t . = i·K·m;                 t . = i·E·m.

 m – ;  – 
.

,  ( ., ) 
:

P = i·C ·RT
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 – , ; R – 
(8,31  · -1 · K-1);  – , ° .

, i
,  t ,  t , .,  ,  

,  (
):

..

.

..

.

..

.

. P
P

t
t

t
tpi

i
:

i = 1 + (k – 1)           = (i – 1) : (k – 1)

 k – , 
 (  k  =  2,   BaCl2  Na2SO4 k  =  3  .  .).

, ,  t ,  t ,
i, 

.

 6. ,   0,85   125  ,
 –0,23º . 

ZnCl2.

.  ( m)  
.  ZnCl2  136,3 ,

m = 0,85 · 1000 / (136,3 · 125) = 0,050 

 (
 1,86);

t . . = 1,86 · 0,050 = 0,093°

, 
i:

i = t  : t , . = 0,23 : 0,093 = 2,47
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:

 = (i – 1) : (k – 1) = (2,47 – 1) : (3 – 1) = 0,735.

 7.  100°
,   5   180  .  

 NaOH  0,8.

. i:

i = 1 + (k – 1) = 1 + 0,8 (2 – 1) = 1,8.

:

21

2
0 nin

ni
pp .

 100°  101,33 
(760 . .).  40 ,

 18 . 

n1 = 180 : 18 = 10 ,

n2 = 5 : 40 = 0,125 .

:

.)..7,16(23,2
2,10

225,0
33,101

125,08,110
125,08,1

33,101p .

:

 = 0 –  = 101,33 – 2,23 = 99,1  (  743,3 . .)

 8.  0,2
, ,  1 

2,18 · 1023  ( ) .

. ,  1 
,  6,02 · 1023 · 0,2 = 1,20 · 1023; 

 2,18 · 1023 . 
, 

, : i = 2,18 · 1023 : (1,20 · 1023) = 1,82.
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 ( . 8 ).
1. l  0,2 .

.
2.  0,2 . 

 0,03. 
.

3. 2 3
0,1 .  2,11 · 10-3. 1.

4. 
 HNO2  0,2?

5.  0,1 . 
1,32 10-2.  HNO2

?
6.  300  0,2

, ?
7. +

,  = 0,03?
8.  [H+]  0,02 . 

.
9.  [ +], [HSe¯]  [Se2-]  0,05  H2Se.
10. , 

1  0,005  0,05 
?

11. 3 ¯ ,  1 
 1  3  0,1 , 

.
12. 

, 
.  G°  

?
13. ,  2,1  250 , 

–0,519° . .
14.  0°  0,1 . 

 272,6 . 2 3
.

15. ,  0,53  200 ,
 –0,13° . 

.
16.  1  0,01  6,26 · 1021

. .
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1.  0,1
KNO3 (P1

.) 3  (P2
.);

) P1
. > P2

., ) P1
. = P2

.; ) P1
. < P2

.?

2. 
HCN  C6H12O6 . 

 HCN:
)  HCN ;

) ?

3. 
l3 (t1)  2 (t2) 

:
) t1 = t2,  ) t1 < t2,  ) t1 > t2.

4.  0,01
?

) 3  — NaCl — 6 12 6 — CaCl2;

) C6H12O6 — 3  — NaCl — CaCl2;

) l2 — NaCl — 3  — 6 12 6;

) CaCl2 — 3  — 6 12 6 — NaCl.

5. 
 NH4CN (t1) 

3  (t2),   5  
 100 :

) t1 = t2,  ) t1 > t2;  ) t1 < t2.

6. 
 ( Gº 2 )  

 ( Gº 3 ):
a) Gº 2  > Gº 3 ;

) Gº 2  = Gº 3 ;

) Gº 2  < Gº 3 .
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3.1. . 

, ,
. 

: , 
, , 

l, r, H , lO4, HNO3).

,

. 
, , 

, , 
, 

. 
, , , 

 ( ) , 
.  ( ) 

:

 = f · 

 f –  ( ).

, . 
 (  0,5 ) 

. 
, 

 (I), 
 z:

I = 0,5 (C1z1
2 + C2z2

2+ … + Cnzn
2) = 0,5 ·

n

i
ii zC

1

2 .

. 9 

. 
:
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lg f = Iz 25,0 .

 9. ,  
 0,01  MgSO4  0,01  MgCl2.

. ?

I = 0,5·(CMg2+ · 22 + SO4
2- · 22 +  CCl  · 12) = 0,5 (0,02 · 4 + 0,01 · 4 + 0,02) = 0,07

 Mg2+ (
 SO4

2-) :

lg f = – 0,5 z2 · I  = – 0,5 · 4 · 07,0  = – 0,53, f = 0,3

l¯:

lg f  = – 0,5 ·1 07,0  = – 0,13, f = 0,74.

,  –

 = f · C ,

 (a) :

a(Mg2+) = 0,02 · 0,30 = 0,006 ;

a(SO4
2-) = 0,01 · 0,30 = 0,003 ;

a(Cl¯) = 0,02 · 0,74 = 0,0148 .

. 9 , 
.

1. +  SO4
2-  0,01

 K2SO4.
2. 2+ ¯  

0,002 .  BaCl2.
3. 

0,0005  H2SO4, , , 0,0005 l.
, 
.
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4.  ,  
0,01 (N 3)2  0,01  CaCl2.

5.  0,1%-  ( )
 BaCl2. .

6.  0,005 . l, 
, , 0,15  NaCl.

7. l¯, SO4
-2

PO4
3-  [Fe(CN)6]4-  0,0001.

3.2. 

, , ,
:

2
+ + ¯.

, 
3

+. 
:

2 3
+ + ¯.

:

][
][][

2

3
OH
OHHK .

, 
 [ 2 ] 
, 

2 ] = 1000 : 18 = 55,55 .

,
. 

:

[H+]·[OH ] = K·[H2O] = KH2O.

2 , + ¯,

.
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, , 

KH2
= a + · a -.

, 
, 

.

25°  10-7 . , 
2  =  10-14.  – 

, , 2

. 2 , 
2  – 

:

t, º 10 18 25 37 50 60 80 100
2  · 10-14 0,29 0,57 1,00 2,47 5,47 9,61 25,10 55,00
pK 2 14,54 14,24 14,00 13,61 13,26 13,02 12,60 12,26

, ,
. ,  25°

+] = [ ] = 10-7 .

 [ +]  >  [ ],  [  +] < [ ].

+

, ; 

:

 = – lg [H+];

 = – lg [ ]

[H+] · [ ] = KH2O

, :

 +  = KH2O.
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,  25°

 +  = 14.

:

 pH = 7,

 < 7,

 > 7.

 10.
4 · 10-3 . .

.  0,01, :

 = – lg (4 · 10-3) = – 3,60 = – ( – 3 + 0,60) = 2,40

 11. , 
 4,60.

.

–lg [H+] = 4,60.

,

lg [H+] = – 4,60 = 5,40.

:

[H+] = 2,5 · 10-5 .

 12. ,
 10,80?

.

 +  = 14

:

 = 14 –  = 14 – 10,80 = 3,20.

–lg [ ] = 3,20 lg [ ] = - 3,20 = 1,80.
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] = 6,31 · 10-4 .

 13.  HCO3
¯  CO3

2-  0,01
,  4,18.

. :

g [H+] = 4,18;

lg [H+] = – 4,18 = 5,82;
+] = 6,61 · 10-5 .

, . 6 , 

][
][][

32

3
1 COH

HCOH
K  = 4,45 · 10-7.

 [H+]  [ 2 3], :

[HCO3
¯] = 4,45 · 10-7 · 10-2: (6,61 · 10-5) = 6,73 · 10-5

2 3

11

3

2
3

2 1069,4
][

][][

HCO

COH
K

3
2-] = 4,69 · 10-11 · 6,73 · 10-5 : (6,61 · 10-5) = 4,8 · 10-11 .

 H+ ,  a paH+ – ,
:

paH+ = – lg aH+ = – lg(fH+ · CH+).
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. 8
 9 . , 

 20 – 25° , , 2  = 10-14.

1.  H+ ,  
 ( ) :

) 10-4,  ) 3,2 · 10-6;  ) 7,4 · 10-11.

2. ¯ , 
 ( ) :

) 10-3;     ) 6,5·10-8;     ) 1,4·10-12.

3. , + ( )
:

) 2·10-7;      ) 8,1·10-3;      ) 2,7·10-10.

4. , ¯ ( )
:

) 4,6·10-4;     ) 5·10-6;     ) 9,3·10-9.

5.  0,01 . , 
 0,042.

6. ,  1  0,1  NaOH.
.

7.  (  = 7,36)
,  (  = 7,53)?

8.  [ +]  [ ¯] ,  6,2.
9. :
) 0,02  NH4OH;      ) 0,1  HCN;

) 0,05 . ;     ) 0,01 3 .

10. , 
5,2?

11. . 4 , + 0,005 .
, , , 0,015  NaCl.

12.  0,2 .
 0,03.  [ +], [ ¯] 

.
13. ,  25  0,5

l, 10  0,5  NaOH  15 . 
.
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14.  0,1 . , , 
, 0,1  CH3COONa. 

.

1. , 
:

) HCN, HF, HOCl, , CH2ClCOOH;

) HNO3, HNO3, , HCN;

) l, CH2ClCOOH, HF, 3 3.

2.  0,01 .  = 4. 
:

) ,  ) ?

3.  0,2 .  HCN 
0,5  KCN:

) ; ) ; ) ?

4. , 
:

)  10 ,

)  1 ;

)  10 ;

)  1 ?

5.  1 , 
13:

) 1013,  ) 60,2 · 1013;  ) 6,02 · 107;  ) 6,02 · 1010?

6. ,  10  10-2  NaOH:
)  2, )  3,

)  4; )  4?

7.  50° :
) 5,5;  ) 6,6;  ) 7,0?
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4. 

, , 
, 

, 
. 

. 
, 

, , 
, – . ,

lO4 + NaOH = NaClO4 + 2 ;

2HNO3 + )2 = Ca(NO3)2 + 2 2

+ +  = H2O

, 
 – .

:

BaCl2 + H2SO4 = BaSO4 + 2 l

Ba(NO3)2 + Na2SO4 = BaSO4 + 2NaNO3

 Ba2+  SO2-

 – :

Ba2+ + SO4
2- = BaSO4.

, 

, 
( )

.

 1.
: CH3COONa 2SO4; Na2CO3 3; HCN 

)2; Pb(NO3)2  K2CrO4.
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. 3 , HCN 2  – , 2

rO4 – , 
:

3  +  = 3

CO3
2- + 2 + = 2  + 2

HCN +  = CN  + 2

b2+ + CrO4
2- = PbCrO4

,  (
) , 

, 
. , 

:

3  +  = 3  + 2

 – 
3 ) . 

 – ,
 (1,8 · 10-16) 
 (1,8 · 10-5). 

: 
3 , 
 (

), .

Zn( )2 + 2HNO3 = Zn(NO3)2 + 2 2O

Zn(OH)2 + 2H+ = Zn2+ + 2H2O

 – 
 ( ), 

+; .
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, , 
 – . , 

, 
,  – ,

.

, 

, :

KCN + H2O  HCN + 

CN  + H2O  HCN + 

, .

, ,
; 

, , ,

ZnCl2 + H2O  Zn(OH)Cl + HCl

Zn  + H2O  ZnO + + H+

, 
, , , ,

:

b( 3 )2 + 2O b( 3  + 3

:

b2+ + 2  PbOH  + H

3  + 2 3  + .

, . ,  

.  > , 
, , +
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. ,  <  , 
.

, , 
, 

, .

, ,
:

OH

K
K

A
HAOH 2

][
]][[

2  – .

, 

, 
, 

.

:

OH

K
K

Me
MeOHH 2

][
][][ .

, ,  ., 
.

 (h) , 
.  

, 
:

h
Ch M

1

2

.

, 
.   h  <  1,  

.
 h :

MCh2
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h

, 

, 
;

,

.

 2.  0,1
.

. :

CH3COO  + H2O 3  + .

, 
 (1,8 · 10-3), . 8 :

10
3

14

1056,5
108,1

102OH

K
K

.

:

5
10

105,7
1,0

1056,5h .

, 
 CH3COO . 

, 
 h , 

. 

] = h·  = 7,5 · 10-5 · 0,1 = 7,5 · 10-6 .

:
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 = – lg [ ] = – lg (7,5 · 10 6) = – (6,88) = – (–5,12) = 5,12.

:

 = 14 –  = 14 – 5,12 = 8,88.

, 
. . 8 ), , 

. , 
3
2- , -

3

CO3
2- + H2O 3  + 

:

2 3 + 2 3 + 

 – . 

 ( 3 ), 
2 3 (4,7 · 10-11):

4
11

14

2
1 101,2

107,4
102OH

K
K

.

. , -
 ( , ), 3

 ( ):

HCO3  + H2O 2 3 + 

:

3 + 2 2 3 + .

 (4,5 · 10-7):

8
7

14

1
2 102,2

105,4
102OH

K
K

.
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2 <<  1. , 
, , 

. ,
,

.

, 
 ( . . 8 ). 

,
:

ZnCl2 + H2O  ZnOHCI + HCl,

Zn2+ + H2O  ZnOH+ + H+.

, 
 ( , , ):

Zn l + 2  Zn(OH)2 + HCl

ZnOH  + H2O  Zn(OH)2 + H+

1 2, 
+, 

.

 3.  0,1 .

. , 
:

3 O4 + 2  K2HP 4 + KOH,

4
3- + 2  HPO4

2- + OH .

, 4
2-, 

 (1,3 · 10-12):

3
12

14

3

2
1 107,7

103,1
10

K

K OH
.

:
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2108,2
1,0

3107,71h .

 h · , :

] = 2,8·10 · 0,1 = 2,8·10-3,

= – lg(2,8·10-3) = 2,55.

:

 = 14 –  = 11,45.

, +

, , 
. B

 – 
.  + ( ) 

,   ( ),  ,
 ( +).

+ , 
 – 

. , 
Na2CO3 l3,  +, 

O2

l( )3:

l3 + 3N 2 3 + 3 2  = 2 l( )3 + 3 2 + 6NaCl

2Al3+ + 3 3
2- + 3 2  = 2 l( )3  + 3 2

. , 
 (CuOH)2CO3 ,  u( )2. 

 CuSO4  N 2 3

 ( )2 3:

2CuSO4 + 2Na2CO3 + 2  = ( )2 3  + CO2  + 2Na2S 4

2Cu2+ + 2CO3
2- + 2  = ( )2 3  + 2
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.
 –  – 

, 
. 

,  – .

1. , 
:

) b(NO3)2 + KJ;                 ) NiCl2 + H2S;            ) 2 3 + HCl;

) CuSO4 + NaOH;               ) 3 + l;          ) Na2SO4 +

2. , 
:

) Na2S + H2SO4;         ) FeS + l;            )  + HNO3;

) NH4Cl + )2;     ) NaOCI + HNO3.

3. 
:

) l + )2;               ) HF + KOH;             ) F )3 + NO3;

) 3  + NH4OH;     ) HNO3 + NH4OH;     ) H2S + NH4OH.

, ,  – .

4. , 
:

NO2  + H+ = HNO2;

u2+ + 2O  = u( )2 ;

Pb2+ + 2J  = bJ2 .

5. 
:

a) NaHCO3 l;     ) FeCl3 ;                   ) b( 3 )2  Na2S;

) KHS 2SO4;       ) Zn(N 3)2 +  ( );

) )2 + 2;    ) )2 + 2 ( ).
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.

6. : NaCN, 3, KOCl,
NaNO2, NH4 3 , l, NaClO4,  KHCOO,  KBr?  

, , -
 ( ) .

7. , : ZnBr2,
K2S, F 2(SO4)3, MgSO4, r(NO3)3, 2 3, N 3 O4, CuCl2. 

, , -
,

.
8. 

:
) 2S i HCI; ) NiSO4 i NaOH; ) AI(OH)3 i NaOH;

) NaHCO3 i KOH;  ) (CuOH)NO3 i HNO3.

9.  ( )

    :

1. dCl2, BaS, AlCl3 2. MnCl2, CuSO4 + Na2CO3, NaCl

3. dCl2, Na2CO3, ZnSO4 4. Pb(NO3), Na2CO3, CrCl3

5. Al(NO3)3,  Na2S,  SbCl2 +   Na2CO3 6. Pb(NO3), Zn(NO3)2, K2S

7. Al(NO3)3 , K2SO4, Co(NO3)2 8. Na2CO3 , Ni(NO3)2, Fe2(CO3)3

9. NiSO4, Cu(NO3)2, K2SO3 10. Na2CO3 , CuCl2 , KCN

11. NiSO4, Zn(NO3)2, Na2SO4 12. K2SO3, NiSO4, KCN

13. ZnSO4, CuCl2, K2CO3 14. K2SO3, FeCl3 + KJ, Co(NO3)2

15. ZnSO4, Cu(NO3)2 , K2SO3 16. FeSO4, Mn(NO3)2 , Na2SO4
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1. :
Ag .) + NaCl .)  AgCl .) + Na .)

) ;

) ?

2. 
:

CH3COONa + CH2ClCOOH 3  + CH2ClCOONa

) ;

) ?

3. , 
:

a) NH4Cl – NaNO3 – CH2ClCOONa – NaF – CH3COONa – NaCN;

) NaCN – CH3COONa – NaF – CH2ClCOONa – NaNO3 – NH4Cl.

4. 
.  (  +

) :
a) NH4OH + HCl;

) NH4OH + 3 ;

) NaOH + HCl;

) NaOH + 3 ?

5. , ,
:

) r2(SO4)3;     ) N 2 ;     ) AgNO3;     ) l3?

6.  5  8,3. 
 0,001  CH3COONa

(K  = 5,6 10-9):
) , ) , ) ?

7. 
 3,2  4,4. 
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 0,1 3 4,
:

) , ) , ) ?

8.  HN3  NH4OH
. 

 NaN3 (pH1)  NH4NO3 (pH2) 
:

a) pH1 > pH2;  ) pH1 2;  ) pH1 < pH2?

:

a) ;

) ,  – .
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 V. 

1.  – 

, 

, 
.

, 
) 

 ( ).

:

1) 
;

2) , 
, ;

3) 
(+1),  II ,  (+2);
4)  +1 , 

 (NaH, 2 .),  
 –1;

5)   –2,  
 (-1) F2 (+2).

, , , , 

NH3, N2H4, NH2OH, N2O, NO, HNO2, NO2  HNO3

:

–3,  –2,  –1,  +1,  +2,  +3,  +4,  +5.

, 
, ; 

, ,
.

, , ,
; , 

, .
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, , 
, 

:  +6 ( 2SO4),   +5  ( 3

),  +7 ( )  +6 (
),  +4 (PbO2) ..

, , ,
, 

:  -2 (H2S ),
 -3 (N 3 ),  -1 (H ) ..

, ,
.

, 
, .

1. , 
, 

, :

2 + 5 l2 + 6 2  = 2 O3 + 10 .

, , 
, :

2 + 2  =  +  + 2          ( ),

2 + 6  = ClO3 + 5  + 3 2    ( ).

2. 2O2  –1,

-2, 
:

2 = 2 O3 + 4 2 2O2 – )

2 2 + 5KMnO4 = 2 nO2 + 2  + 3 2 + 2 2   ( 2 2 – )

3. , 
 NO2, :

5HNO2 + 2 nO4 + 3 2SO4 = 5 3 + 2MnSO4 + K2SO4 + 3 2
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1.1. 

:

1) ,
, 

, .
2) 

, 
.

3) 
; , 

2O, + ¯.
4) 

; 
.

5)  ( ) ,
, , 

, .
6) 

.
7) .

, 
: 

, . 

,  – 
, :

2- + 8H+ + 5  = n2+ = 4 2 ),

NO3  + 6 2  + 8  = NH3 + 9O )

,  – 
, :

2 + 6 2  = 2 O3  + 12 + + 10    ( ),

CrO2  + 4O  = 4  + 2 2 +    ( ).
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 1.
, :

H2S + Cl2 + 2  H2SO4 + .

.
 0  –1 ( ),  –  -2  +6

). :

Cl2 + 2  = 2 l¯

:

2S  SO4
2-.

, . 
+;  ,  +

 H2S. , , :

H2S + 4 2  SO4
2- + 10 +

, 
 +8. , 

:

2S + 4H2O = SO4
2- + 10 + + 8

, 
,  1 : 4, , 

, 
 4,  –  1:

Cl2 + 2  = 2 l¯      4

H2S + 4H2O = SO4
2- + 10 + + 8      1

2 + 2S + 4H2O = 8 l  + SO4
2- + 10 +

:

2 + H2S + 4 2  = 8  + H2SO4
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1. :
SO2, H2S, N 2 3, CS2, H2SO4, As2S3.

2. :
2 rO4, r2 3,   F 2)2,   2 r2O7,   r2(SO4)3,   Na3[Cr( )6].

3. ,  -
:

S  SO4
2-; S  S2-; Sn  Sn4+; +;

Br2  2Br ; 2H+  H2; 2  2 ; V2+  VO3 ;

l lO3 ;  O3 2; nO4 nO4
2 .

4. , 
 –  ,  

:
NH4

+  N2; 3  NO;  N 2 3 ; N 2  NO .

5. ?
) 2 + r2 = 2 r;

) NH4Cl = N3 + l;

) NH4NO3 = N2O + 2 2 ;

) 2 2 rO4 + 2SO4 = 2 r2 7 + K2SO4 + 2 ;

) 3 3 + 4HF = HBF4 + 3 2 ;

) Fe + S = FeS.

6. , 
 - :

) SO2 + Br2 + 2 2  = 2 r + 2SO4;

) Mg + H2SO4 = MgSO4 + 2;

) u + 2H2SO4 = CuSO4 + SO2 + 2 2 ;

) 3J2 + 6  = JO3 + 5KJ + 3 2 .

7. 
, 

?
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) 4 nO4 + 4  = 4 2 nO4 + 2 + 2H2O;

) H2SO3 + 2H2S = 3S + 3 2O;

) NH4NO2 = N2 + 3 2 ;

) 4  + 3  + 3 2  = 3 + 3 2 2;

) 2 2O2 = 3 2  + 2;

) 2 nO4 + 3MnSO4 + 4H2O = S nO2 + K2SO4 + 2H2SO4.

8. , 
: , , 

 -2,  0, , 
, , .

9. 
 -

? , -
: H2S, SO2, CO, Zn, F2, NaNO3, KMnO4, HOC ,

3Sb 3.
10. , 

,  – :
) 2 + H2O2 O3 + 2

) 2 + 2 2 b( )2 + 2

) ClO3 + 2 2  + 2 + 2

) KMnO4 + H2O2  MnO2 +  + 2 + 2

11. ,  N2H4
,  – :

N2H4 + 4AgNO3 + 4  = N2 + 4Ag + 4 3 + 4 2

N2H4 + Zn + 2KOH + 2 2  = 2N 3 + K2[Zn(OH)4]

?

12. 
, 

:
) 2  + 6  = 2 3 + 3 2 ) 2 2 + 2 = 2 2

) 2Na + 2 2  = NaOH + 2 ) 2 + 2 2  = )2 + 2 2
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13. 
) )

) 
NO3  NO2 NO2  NO3 CrO2  CrO4

MnO4  Mn2+ MnO4  MnO2 Al  AlO2

Cr3+  Cr2O7
2- SO3

2-  SO4
2- NO3  NH3

14. :
) n( )2 + Cl2 +  = MnO2 + …;

) 2 + 2 +  = 2 nO4 + …;

) FeSO4 + Br2 + H2SO4 = …;

) NaAsO2 + J2 + NaOH = Na3AsO4 + …

15. , 
:

)  + HNO3  CO2 + …;

) Sb + HNO3 sbO3 + …

) Bi + HNO3  Bi(NO3)3 + …;

) PbS + HNO3  PbSO4 + N 2 + …

16. , 
:

) r + 2SO4 r2 + …;

) S + H2SO4  SO2 + …;

) Mg + H2SO4  MgSO4 + …

17. :
) K  + F 2(SO4)3 2 + …;

) K  + CuCl2  CuCl + …;

) SnCl2 + HgCl2  Hg2Cl2 + …
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1. , -
:

) r2(SO4)3 + 6RbOH = 2 r( )3 + SRb2SO4

) 2Rb + 2 2  = 2RbOH + 2

) 2Cu 2 = 2Cu  + 2

) NH4Cl + NaOH = NaCl + NH3 + H2O

) 2 4[Fe(CN)6] + r2 = 2 3[Fe(CN)6] + 2KBr

2. 
:

) S + KOH 2SO3 + 2S + 2 ) u2 3  Au + O2

l + rO3 rCl3 + l2 + 2 ) ClO3 lO2 + lO4

) N2H4  N2 + NH3 ) AgNO3  Ag + NO2 + 2

3. :
) 2

+;      ) 2;       )  2O ?

4. 
:

) Ag2O  Ag + 2; ) F2 + 2  HF + 2;

) N 3 + O2  N2 + 2 ;  ) AgNO3 +  + 2O2  Ag + KNO3 + 2

2. 

, 
, 

 ( ), 
 – . 

. , 
, 

, .
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 –
, ; 

. , 
, 

; ,  – .

, 
 – .

, , 
:

Zn + 2AgNO3 = Zn(NO3)2 + 2Ag

:

Zn | Zn(NO3)2 || AgNO3 | Ag

:

Zn | Zn2+ || Ag+ | Ag

, . :

Zn = Zn2+ + 2

, 
:

Ag+ +  = Ag
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. 
 (

), :

Zn + 2Ag+ = Zn2+ + 2Ag

, 
. , 

:

Pt | Fe2+, Fe3+ || MnO4 , Mn2 , H+  Pt

. 
 (II):

Fe2+ = Fe3+ + 

 (VII):

4¯ + 8H+ + 5  = n2+ + 4H2O.

,
, 

:

5F 2+ + nO4¯ + 8 + = 5Fe3+ + Mn2+ + 4H2O.

2.1. 

, 
, ,

 ( .) , 
.

, , 
, , 

, ., ,
°  

.
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. 
, 

, . , 
. 

:

 = Ag Zn,

Ag Zn – , ,
.

 (
) ,
:

 =

:

][Re
][3,20

d
Oxg

zF
RT ,

0 –  ( . . 11
); R – ,  – ; F –

 (96500 ); z – , 
; [ ]  [Red] – 

) , 
 ( )  (Red) .

, :

Fe3+ +  = Fe2+

:

z = 1, ] = [Fe3+],  [Red] = [Fe2+].

:

MnO4¯ + 8H+ + 5  = Mn2+ + 4 2

z = 5, [Ox] = [MnO4¯] [H+]8, [Red] = Mn2+.
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 [H2 ] 
0.

) , , 
, 
, ,  = 0.

,  ( 0)

) , , 
.

 R  F
 = 25°  (298° ) :

Zn | Zn2+ Zn2+ + 2  Zn ][
2
059,0 2Zng

Ag | Ag+ Ag+ +  Ag ][059,0 Agg

Pt | Fe2+, Fe3+ Fe3+ +  Fe2+
][
][059,0 2

3

Fe
Feg

, 
, 

, :
+ + 2 2

 ( ) , 
 = 0), , 

, 
.

,  H2 , 
 ( ) + , 

,  25°
, , 

:

Hap059,0
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:

pH059,0 .

,  (  = 7):  = – 0,059 · 7  – 0,41 .

. 12 
0, 

. 
, :

 ( ) 0, 

; , 0, 

.

 1. ,
 0,1 , ,
 0,02 . .

, , 
.

. . , 
. . 12 

:

Zn2+ | Zn  (– 0,76 )

b2+ | b  (– 0,13 ),

:

gZn 79,0)1(030,076,01,0
2
059,076,0

BgPb 18,0)7,1(030,013,002,0
2
059,013,0
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 ( Pb > Zn), 
, :

b2+ + 2  = b.

Zn = Zn2+ + 2 ,

.

. :

 = Pb – Zn = – 0,18 – (– 0,79) = 0,61 .

( ) Zn | Zn (NO3)2 (0,1 ) || b(N 3)2 (0,02 ) | b (+)

 2.
 AgBr (  = 6 · 10-13), , , 0,1 

.

.  Ag+/Ag:

 = 0 + 0,059 lg [Ag+]
0  ( . . 12

) 0,80 . 
,  [ r¯] = 0,1 . 

:

Br
Ag AgBr /106

1,0
106

][
][ 12

13

0  [Ag+] 
:

 = 0,80 + 0,059 lg (6 · 10-12) = 0,80 + 0,059 (—12 + 0,78) =

= 0,80 + 0,059 (—11,22) = 0,80 — 0,66 = 0,14 

 3. + , 
 – 82 .
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.

 = – 0,059 · pa +

:

39,1
059,0
082,0

059,0Hap

:

- lgaH+ = 1,39,

- lgaH+ = n – 1,39 = 2,61,

aH+ = 0,041

, 
, 

,  (
).  

, . 
.

 4. . :

Ag | AgNO3 (0,001M) || AgNO3 (0,1M) | Ag.

?

.  Ag+/Ag
 0,80 . 1, 

 – 2 :

1 = 0,80 + 0,059 lg 0,001 = 0,80 + 0,059 (—3) = 0,62 ,

2 = 0,80 + 0,059 lg 0,1 = 0,80 — 0,59 = 0,74 .

1 <  2, 

.

. :   = 2 — 1 = 0,74 — 0,62 = 0,12 .
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. . 12 )

1. , 
,  – . 

, , 
.

2. 
:

) Mg  Mg2+  Pb2+  Pb;

) Pb  Pb2+  Cu2+  Cu;

) Cu  Cu2+  Ag+  Ag,

? 
?

3. ,
 1  AgNO3, 

. 
, . 

.?
4. . , 

,  1
,  126 . 

. 
? . 

?
5. 

 Mg2+ 0,1, 0,01  0,001 .
6. , :

o  ;
o   = 3,5;
o   = 10,7.

7. 
 –118 . + .

8. 
r2,  [ r¯] = 1 , (PbBr2) = 9,1·10-6.
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9. . , ,
 1 ,  0,47 . 
. . .,  0,001 ? 
 ( ).

10. 
, , 

r3+. r3+ . 
?

11. 

Zn | Zn2+ (C1) || Zn2+ (C2) | Zn   (C1 < C2)?

?

12. 
,  = 12.

,  – ? .
.

13. . , 
,  272 . , 

,  = 3?
14. :

[Fe(CN)6]3- +  [Fe(CN)6]4-.

 0,28 ?

15. 
? 

:
) 4

2- + 2H2O + 3 rO2 + 4O ;

) nO4 + 8H+ + 5 n2+ + 4 2O;

) Sn4+ + 2  Sn2+?

    .

C

1.  = 10:
) – 0,59 ;
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) – 0,30 ;

) 0,30 ;

) 0,59 ?

2. , 
, ,  10 :

)  59 ,

)  59 ;

)  30 ;

)  30 ?

3.  = 0. 
, 

 = 7:
)  59 ,

)  0,41 ;

)  0,41 ;

)  59 ?

4. . 
Pb | Pb2+ | | Ag+ | Ag,

, , :

) ;

) ;

) ?

5. .
:

Pt, H2 | HCl (C1) || l ( 2) | 2, Pt:

) ;

) ;

) ;
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) ?

6. , 
 – . 

.:
) 0,1 ,

) 0,1 3 ;

) 0,1 3 O4?

7. , 

? .

3. 

, 

, 
.

 – .

, , 
, , , 

 – .

, :

1. , 
 (  – . . 11 ),  (

), 
;
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2.  (
) , 

;
3. , , , 

,  ( ), 
;

4. ,
 Ag+, Cu2+, Fe2+, 

,  – ;
5. 

,  S2-,  I¯, Br¯,
Cl¯ ;

6.  S 4
2-,

NO3¯, 3
2-

4
3-,  

;
7. , 

, : 

.
 1. , 

.

.

Na+ +  = Na ( 0 = –2,71 )

 (– 0,41 ). 
, 

:

2  + 2  = + + 2O

 Na+, , 
 ( ).

,  
:

2  = O2  + 4 + + 4 ,
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(1,23 ) , 
(2,01 ), :

2SO4
2- = S2O8

2- + 2

, 
.

, 
:

2  = 2 2  + 4  + O2  + 4H+

)                   ( )

,  Na+

 SO4
2- , 

:

2  + 2Na2SO4 = 2 2  + 4Na+ + 4  + O2  + 4 + + 2SO4
2-.

      ( )                                     ( )

, 
 ( )  (

).

, . 
 ( ):

, 
, , 
,  ( · ), 

, 
.

:

F
Im . ,
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 m – , ;
. – ; I – ;  –  ;  F  –

 (96500 ), ,

.

 2.  2,5 , ,
 30 .  2,77 . 

.

.
 (m = 2,77 , I = 2,5 A,

 = 30 . = 1800 )

. = m·F  (I· ) = 2,77 · 96500 : (2,5 · 1800) = 59,4 

 3.  6 
 1,5 . , 
, , 

 ( ).

. , 
, ,  1,5  = 5400 2  =  9  ,

:

m 2 ) = 9 · 6 · 5400 : 96500 = 3,02 

, , 
:

F
IVV . ,

 V – , , ;  V . – ,
.

 11,2 ,  – 5,6 , :

.88,1
96500

540066,5;76,3
96500

540062,11
22

VV OH
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 ( . 11  12 )

1. , 
 NaOH  NiCl2 .

2. 2SO4, CuCl2,
b(N 3)2 .

3. , 
 BaCl2 3

.
4. , 

 F 3 (N 3)2 .
5. , :
) ,  ) .

6. . :
) ; ) .

7. 
, ,

, ?
8.  Fe2+, Ag+, Bi3+  Pb2+ .

,
?

9. , 
 KNO3.

10. , l u(NO3)2. 
 KNO3.

11. . , 

.
12. . 

?
13.  CuCl2  560 

). , .
14. , 

 6  30 .
15.  2 

 2 ?
16.  LiOH ? 

 1  LiOH? 
.
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17.  ( ), 
 6  30 . 

.
18.  ( ), 

 3  1 
 H2SO4.

19. :
) 2 , ) 2 ?

20. r2(SO4)3,   2 
 8 . 

?
21.  SnCl2

4,48  ( ). , 
.

22.  10 .  5 
1,517  Pt. .

23.  30%-
, 

 (III)  0,5 
10 ?

24. ,
 245  15 , 

. 

 (III)?
25.  12%-  1,111 

 (
), 

 300 .  25 ?
26. 

20  30 ., 
 80 .  18 . 

 1 . 
.

1. 
 (II) :

) Sn  Sn2+ + 2 ;      ) 2 l l2 + 2 ,      ) 2 2  O2 + 4 + + 4 ?
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2.  (II) 
: 2 2O = 2O2 + 4 + + 4 . 

:
) , ) , ) ?

3. 
. 

:
) , ) ?

4. 
. 

: ) , ) CuCl2; ) Cu(NO3)2?
5.  NaOH  2,8 

 ( ). :
) 2,8 , ) 5,6 ; ) 11,2 , ) 22,4 ?

6.  (II) 
 3,2 . :

)  0,112 l2,

)  0,56 2;

)  0,1 u2+;

)  0,05 u2+?
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 VI. 

, , 
, 

 (10-7 – 10-5 ), ,
. , 
:

 ( ).

, 
,  – , 

. 
.

, 
 ( , ).

. , 
, 

10-2 .

:

1. , 
, ;

 – , , 
;
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2. , 

 ( );

3. , , 
 – .

4. .

,
 ( ),  ( )  ( ) 

9 :

1)  , 
: , ,

.  ( , , ,
), 1 2 ( ),  ( , );

2)  , 
: 1 2 ( , ,

),  ( , ), 
, );

3) , 
:   ( ,  ),  

),  ( , 
, ,

 ( ) 
).

,
. , 

, 
, 

) , ,
.

1. 

 ( ) 
 ( ) 

.
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:

1) ), 
:

D = 1/ = ( –1),

,

2)  S ., , 

 ( ) .

. , 
, ,  – 

, 
:

S . = S1,2 / V = ( 2 3),

  S1,2 –  1  2;

V – .

 (S .) 
.

S . = S1,2 · n/(m · n) = ( 2 ),

 S1,2 – , 2;

n – ;

m – ,  (m =  · V);

 – , , 3;

V – , 3.

 r:

r
S 3  = ( 2 ),
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 1.
:

D . = 4,95 · 104 -1      D . = 2,35 · 105 -1.

, 
 = 1,05 · 103 3.

. ,  (D) ,
. 

, 
 (d):

D = 1/d.

, 
:

d . = 1/D = 4 · 10-5 ,

d . = 8,5 · 10-6 .

 r:

V = 4 r3 / 3,

S1,2 = 4  × r2,

drnr

nrS 63

3
4

4
3

2

. ,

:

d
S /8,142

1005,1104
66 2

35.. ,

d
S /3,672

1005,1105,8
66 2

36..

:  d . = 4 · 10–5 , S . . = 142,8 2 ;

d . = 8,5 · 10–6 ,  S . . = 672,3 2 .
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1. ,  3,2%.
 1 

, 
 85 . 

 1 3.
2. , ,  15%.

 (V .)  0,5 
 (v .) , 
 106 · 10-6 .

: V . = 75 · 10-6 3, v . = 3 · 1010 -3.

3. 
 1,44 · 108 -3. , 

 3,6 · 10-6 ,  
1,2 · 103 3.

: v . = 3,37 · 10-5 3.

4. 
. ,  20 ,

 4 . ,
, 

,  1.1 · 103 3.
5. 

 4,2 3.
, 

 3,7 , 
1,1 · 103 3

1.  SrSO4, , 
3% ( .) . 

 298°  85 2,  SrSO4 3,96 3.
2. ,  30% 

,  1 · 10-5 ,  –
 5 · 10-5 . ?

3.  = 528 , 
 CCl4 l =  5  ,  

 2 . 
, v = 0,8%,

 CCl4 n1 = 1,460,  n0 = 1.333. 
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.
4. 

3,5 3. , 
,  10 -1.

 0.475 2.

2. 

 – 
.

 ( ) 
 ( , ) 

( ). 
. 

 ( ),
 ( ) 

 – .

. 

»  ( )
, . 

.

.

 1.
, 

:

 + AgNO3  Ag  + KNO3.

. 
) , 

.
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.  ( ) 
,  ( . 1), 

 10-7  10-5 .

. 1.  ( ), 
              – m(Ag ),

                   m – , .
, 

.

, 
. 

 ( ), 
,

.

,
.

 Ag  AgNO3, 
. 

 Ag+  NO3¯. , 
, .

:

, 
.

,   Ag+. 
» , 

, , 
. 

. 2).
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. 2.  – [m(Ag )·nAg+]n+,
                                   n –  Ag+.

, 
0), 

 Ag+,  n+.

 (NO3¯), 
,  (

).  (n – x).

, 
 ( . 3).

. 3.  – {[m(Ag ) nAg+]n+ (n – )NO3¯} +.

, 
. 

), 
 n.

 2 :
.

 ( ), 
, ,

. 
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: 
, 

 (
).

,  – 
:

{[m(Ag ) nAg+]n+ (n – )NO3¯} +

 (n – x) < n  x,  ( ) 
x+.

 ( ) 
, 

:

 = n – (n – ).

, 

 ( . . 5).

 ( ) ,
 (>  ) 

.  x (
).

 ( . 4).

, , , 
 ( ). 

 ( , ) 
 (

).
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. 4.  NO3¯.

:

{[m(Ag ) · nAg+]n+ (n – )NO3  }x+ · xNO3
¯

                          
                          
                             ( )
                          

, ,
, , 

. 
 (

 ( .)) 
 ( . 5).

 ( . 5) ,  ( 0)
.

. 5.  ( )
 ( ) .
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 ( ). 
, 

.

,  – 
AgNO3  K  (  K ), 

 K+,  ¯  NO3
¯

 Ag+  AgNO3

 Ag ).  

 ( ).
 ( . 6)

. 6.  K
{[m(Agl)·n ¯]n–·(n – +} +.

, 
, .

,  (
), 

.

, 
, 

 – 
:

{[m(Ag ) nAg+]n+ nNO3¯}0

:

{[m(Agl) · n ¯]n– · n +}0,
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.

, 
, . ,

, 
. 7), :

{[m(BaSO4) n 2+]2n+ 2(n – ¯} + 2 ¯.

. 7. .
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1. , 

 ( ).

, :
1. FeCl3 + 2  FeO  + 2  + 3C  + 2 2  F )3  + 3 l;

2 BeCl2 + H2O l2  + 2 l;

3. l( 3 )3 + 3 2 )3  + ;

4. Na3Cr 3 + 3H2O r( )3  + 3NaOH;

5 Zn( )  + 2 2  Zn( )2  + 2 3 ;

6. u( 3 )2 + 2 2 u( )2  + 2 ;

7. Bi(NO )3 + H2O iON 3  + 2HNO3;

8. Sb l  + 2O  SbOCl  + 2HCl;

9. NaSbO2 + H2O  HSb 2  + NaOH;

10. SbCl3 + H2O  Sb 2Cl  + 4HCl;

11. Sn( 3 )2 + 2 2 2SnO3  + 2 3 H;

12. Na2SnO3 + 2H2O  H2SnO3  + 2NaOH;

13. TiCl4 + 3H2O  TiO(OH)2  + 4HC1 ;

14. NaCrO2 + 2H2O  Cr(OH)3  + NaOH.

2. 
:

) 
.

) 
? 

?



203

) , 
) ).

)

1. NaI AgNO3 AgI NaF,   Pb(NO3)2;   K2SO4

2. MgCl2 NaOH Mg(OH)2 KCl;   (CH3COO);   2 3

3. CaCl2 H2SO3 CaSO3 ZnCl2;   Al(NO3)3;   Na2 3

4. BaCl2 CaSO4 BaSO4 NH4Cl;   Al2(C 3)3;   Zn(NO3)2

5. FeCl2 NH4OH Fe(OH)2 Na2SO4;   ZnCl2;   K2CO3

6. (NH4)2S AgNO3 Ag2S Fe(NO3)2;   KCH3COO;   Na2SO4

7. AgNO3 K2(CO3) Ag2(CO3) Na3 O4);   Ca(NO3)2;   K2SO4

8. I3 NaOH Al(OH)3 Na2SO4;   K3(PO4);   CaCl2

9. I3 NH4OH r( )3 Na3 O4);   KCl,   Ba(CH3COO)2

10. ZnBr2 NaOH Zn(OH)2 Na2(C 3);   K2SO4;   SrCl2

11. Fe(NO3)3 NaOH Fe(OH)3 NaF;   KNO3;   MgCl2

12. K2SO4 I2 Ba2SO4 Pb(NO3)2;   AlCl3;   Zn(NO2)2

13. CuCl2 (NH4)2S CuS NaOH;   K2SO4;   CaCl2

14. NiCl2 (NH4)2S NiS NH4CI;   Na3(PO4);   Cr2(CO3)3

15. SnCl2 (NH4)2S SnS Na3 O4);   Ca(NO3)2;   KCl

16. AgNO3 HCl AgCl Al2(CO3)3;   NH4NO3;   K2SO4
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)

17. Hg(NO3)2 HI HgI KNO3;  (NH4)3PO4;  Zn(CH3COO)2

18. Hg2F2 K2S Hg2S KI;   Zn(NO3)2;   NaCH3COO

19. Na2SiO3 HCl H2SiO3 Na2SO4;   Al(NO3)3;   KCl

20. Pb(NO3)2 H2SO4 PbSO4 Zn(NO3)2; NaCH3COO; (NH4)3PO4

21. KI AgF AgI KCl;   Hg(ClO4)2;   CaCl2

22. NaF BaCl2 BaF2 I3;   Cu(NO3)2;   KBr

23. ZnCl2 (NH4)2S (NH4)2S (NH4)2SO4;   Na2SiO3;   Ca(NO3)2

24. MgCl2 LiOH Mg(OH)2 BaCl2;   Zn(CH3COO)2;   H2CO3

25. SrCl2 K2CO3 SrCO3 NaNO3;   (NH4)3PO4;   ZnCl2

1. 
(N 3)2 2 4. . 

, 
?

) ; ) ; ) .

2. 2S 
. 

, 2S.  
?

) ; ) ; ) .

3.  Fe(OH)3  FeCl3. 
, , 

.
) ; ) ; ) .
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4.  SiO2
, 

 SiO2 c  H2O.
. ?

) ; ) ; ) .

3. 
 – 

.

:

1.  – 

. )
.

2. )  –
.

:

a) 
;

b) , 
;

c) .

.

.

:

1)  ,
2)  ,
3)  ,
4)  

,
5)  .
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, , 
. 

, . :

1. , , 
.

2. , 
, 

 ( ).

 –

, 
1 3 .

:

 =
.

1000
V

,

v – 

, : v =
1000

V .. ;

V . – : V .= V + V .,

, :

 =
.

..
VV

V ,

 V . –  , ; V . – ,  ;  . –
, .

3. , 
. 

, . 
. 

 :  :  = 1 :
66

3
1:

2
1 .
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.

4. 
.

5. 
 (~0,03 ).

. -
, 

. 
. 

.

 – 
. , 

, 
, 

.

, 
.  ( )

. 
, 

, 
. , , 

, 
. 

.

, , , .

,
.
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 1. ,  10 , :  –
1   0,1 .   Al(NO3)3,   –  3   1 .   Ca(NO3)2,  

 – 5  10 .  KNO3. 
. , .

. :

 =
..

..

VV
V

.

,1 = ,/1009,9
110
1,01 3

,2 = ,/23,0
310

13

,3 = ./33,3
510

105

,  Al(NO3)3, Ca(NO3)2  KNO3

 9,09 · 10-3; 0,23; 3,33 .

, ,
. , 

.

 2. ,  1 .  CaCl2
, 

 100  1 .  NaCl.

. ,  
, 

.  NaCl, 
:

                nNaCl = .1,0
1000

1100
1000

V

, 

:  = 1 :
6

2
1 ,
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 CaCl2, 
:

64
1:1:1,0

2CaCln ,

:

.1056,1
64

1,0 3
2

nCaCl

 CaCl2, , 
:

.56,1
1

1056,11000
C

n1000V
3

.
.

 3. ,  0,1 .  AlCl3
 AgI (  – AgNO3), 
 5  0,2 .  CaCl2.

. , 
 AgI:

{[m(AgI) nAg+]n+ (n – x)NO3
-} + xNO3

-.

, 
.

 CaCl2, 
:

.10
1000

2,05
1000

V
n 3..

CaCl2

, 
 AlCl3  CaCl2. 

 AlCl3 :

.10
1,0
10101000 33

3
3 C

nV
AlCl

AlCl
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1.  AgI (  KI) 
15  0,01 .  Al(NO3)3. ,  0,01 . 
Ca(NO3)2 , .

2.  10 , 
 20  0,5 .  NaCl,  – 12  0,05 .
 K2SO4,  – 0,5  0,01 .  K3PO4.

, .
3.  0,1 .  Al2(SO4)3

10  Al2S3?  19,35.10-3 .
4.  {[m(AgI) nAg+]n+ (n – x)NO3

-} + xNO3
-

 1,5  1 .  KNO3. ,  0,1 .
 Ca(NO3)2  0,01 .  Al(NO3)3 , 

.
5. ,  1 .  AlCl3  1 .  CaCl2

,  10  0,1 . 
KCl.

6.  1 .  AlCl3,
 20  10  0,1 .

 CaCl2  10  1 .  KCl.
7. ,  1 . 3 4 , 

, 
 5  0,1 . 2SO4  2 

0,25 .  KCl. ?
8.  ( ) 

0,1  0,5 .  Al(NO3)3.  0,01 .  Ca(NO3)2
 1 .  KNO3 , 

?
9.  NiS ( 2S)

.  Al(NO3)3,  10 
 5  0,1 . a(NO3)2  5  1 . 

NaCl.
10.  0,01 .  K2Cr2O7  1 

Al2O3, ? 
/1065,0 3 .

11.  As2S3, 
 10  1,2  0,5 .  NaCl 

0,4  0,036 .  MgCl2  0,1  0,01 .  AlCl3?
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12.  30  NiS (  H2S)  6  3 .
 K2SO4. 

Al2(SO4)3.
13. , 

Fe(OH)3 (  NaOH),  10  0,1 . 
KCl  1 .  aCl2  1 .  AlCl3.

14.  Fe(OH)3,  10 
 1,05  1 . l,  –

6,25  0,01 .  Na2SO4,  – 3,7  0,001 .
 Na3PO4. ?

15.  20 
 4  3 . l. 

 KCl  AlCl3.  KCl  AlCl3 ( ) 
 100 3 ?

16.  5  5  1,8 .
 KCl, 0,08 .  CaCl2  0,006 .  AlCl3.

.
17.  0,01 .  K2Cr2O7, 

1   Al(OH)3, . 
 0,63.10-3 3.

18.  100  Fe(OH)3. 
 10,5  1 . 

KCl,  – 62,5  0,01 .  Na2SO4,  – 37 
0,001 .  Na3PO4. .

19.  Fe(OH)3  5 
4  3 .  NaCl  0,5  0,01 .  Na2SO4.

.
20.  0,1 .  Na3PO4, , 

. , 
 10  0,1 .  Na2SO4  5  0,2 . 

NaCl. ?
21.  CoS (  H2S)  10 

0,1 .  NaCl.  1  FeCl3  CaCl2, 
.

22.  AgI 
0,008 .  KI  0,01 .  AgNO3. 

 8  0,1  KCl.
 0,2 .  CaCl2, ,

.
23.  15  10  1 . 

NaNO3,  3  1 .  Ca(NO3)2  3  0,1 .  Fe(NO3)3.
.
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24.  1 .  NaNO3, 
 Ca(OH)2 ( ), 
. , 

2  1 .  MgCl2.
25.  1 . 

Fe(NO3)3,  –  10 
5  0,1 .  Ca(NO3)2  5  1 .  NaNO3.

1.  NaOH  MgCl2
 ( ). 2

 ( ). 
.  

? .
: .

2. )2, Sr(OH)2
)2 :

2 :
)2 + O2 3 + 2O.

? 
. 

3 ?

3. 2+, Sr2+ 2+
2 4

2-  SO4
2-

, 
, 

. 
. 

, 
. 

?
4. 2+  K2 rO4

rO4, .
? 

, . 
?

5.  Zn2+  H2S 
 CH3COONa.  CH3COONa 

?  ZnS, 
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 CH3COONa. 
 ZnS ?

6. :  ) 3 3  (NH4)2S;
) CdCl2  Na2S;

) 3 sO4  (NH4)2S;

) AgNO3  K ,

, , :

) ;

) ?

, .

7. 2+, Sr2+ 2+

. , 
,  – . 

?
8. , 

, . ,
.

9. . 
?

10. 
, 3,

NH4NO3, NH4CH3 . .?
11. , 

. 
: NaCH3COO;

Na2SO4; Zn( 3 )2; ZnSO4; 3 )3; 2(SO3)3? 
, 

?
12. 2(SO4)3  FeSO4, 

. 
, , 

, 
.

13.  ( ) 
90 – 95° .

. 
?
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14. ,  200
r6+, r6+ r3+

0,1 .  NaOH. 
, , r3+

.   NaOH   1  3

.
15. : NH4Cl  (NH4)2SO4

:
{[m( H)3

. n l3+]3n+ . 3(n – x) l } + · 3 l  ?

 NH4Cl, 
30 3  0,33 3 20%-  NH4

 1060 3).

: 43,6 3.

16.  100 3  As2S3  1 3

25%-  NaCl (  1190 3). 
.  30%-  CaCl2

 1280 3)  100 3

?
: 50,4 3; 2,27 · 10-2 3.

17. :
 - , 

, . 
 Al2(SO4)3, FeSO4  NaCl ( ), 

 100000 3/cy , 
: )  NaC  52 3;

)  Al2(SO4)3 0,23 3;

)  FeSO4 0,68 3.

.

: 12,7 · 103;   328;   431 ;   «+».

18. 
. 

Al2(SO4)3  100  3 ,  ,  
: ) ;

) .

 ( 3):   142;
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 – 2,43;

 – 0,068.

: 27,7;   1,16 .

19.  5,0 · 10-2 3

2,3 · 10-3 3 26%-  NaCl (  1200 3)
. 

 NaCl?  26%-
Al2(SO4)3 (  1300 3) 

, 
: ) ; ) .

: 235 3;   1,2 · 10-3 3 3;   1,6 · 10-4 3 3.



216

 ( ):  NA = 6,02 ·  1023

 ( . ).

 – ( . dhaesio – , ) ( ),
.

) 
, , 

, – .

 – (
), 

.
, , 

 10-20 , 
, 

.

 ( . d – ,  sorbeo – ) – 
 – ) 

 (" "). 
 – 

, .
, , , ,

 – , 
 – . , ,

.

 – , 
 ( ) 

 ( ., ) . 
, , , 

, , 
, . 

.

 ( )  –  ,  
.



217

, 
; 

. 

.

 – , , 

. 
, 

, .

.

 – 
.  87-97% ( ) , ,

, .
 1 – 15% (

 0,1 – 0,2%). 
 – 

 ( , ),  – 
, NH3).

 – . .

 ( . ccumulator – ,
), . 

, 

. 

, , , 
, . 

: 
,  – .
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( )  – 
 ( ) . 

, 
, .

 – 
, . 

, , 
.

,  –  ( )
,  – 

. 
.

 – , ,
. : , , ,

, .

 – 
, 

.  ( ) 
 – .

 – .

 – , 
.  – ,

, .

 ( .) –  1/12 
12

6C,  6  6 , 
 6 .  – . , 

, .

 ( , 
) – , .

( ). 

.  (IUPAC) 
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 (Commission on Isotopic
Abundances and Atomic Weights,  – CIAAW).

 – , 
. . . 

, 
.

 – , .

 — , 
. 

,  1827 .. 

. 
, . 

, 
. . 

 1905 . .

 – , , 
;

. 
, 

. 
 ( ), 

. , 
HCl, H2O  N 3 ,  — , 

 — , , 
.

 –  Ar ("r"  –  
 "relative" – ) – 

1/12  – 12  ( . .). 
 " " 

 ( ).
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 – .
. 

, 
, , 

, : O, N, F. , 
.

,  H2O, 
NH3,  HF.  20 

, . ,
, .

 ( ) – , 
.

 – , 
 ( ).

 R – . .
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.
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; 
,

 – . 
, . , 

, ,

. 
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.

 – , 
 ( ).

,  – 
. 

 – 
 HCl. , 

 – 
.

 – , 

 ( .
). ,  s-    p- , 

 CH4

,  s-  –  p-
 (  CH4 ). ,  s-

 p-  " " ( ),  4 ,
 (  sp3 ).  4

 4-
. , ,

, 
.

,  4- . 
,  p-

, 
, 

).  sp2-  sp- .
.
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, : NH3 – sp3  N, 
,  – 

,  – . 
 s-  p-  d-

(sp3d-  sp3d2 ). 
.
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.
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, 
 ( )

. : p0V0 = pV, 
.  1662 . 

 1676 
.

 —  ,  
. 1) : 

 Vt

: Vt/T = const.  Vt = V0(1 + t),  V0 — 
 273,15° ; t — 

) ;  – ;
 –  ( , 

 = 1/(273,15° )). 2) , 
, ,

, 
. , 

. -
.

 – : 
, ,

, 
. 

1860-1870 .

 – , 
, .           m1/m2 =

E1/E2.  ( ) – 
,  1 .  8 . 

.  – 

. ,  HCl, H2S,NH3, CH4

, , ,  1 , 1/2
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(1+  1-),  (2+  2-), . . 

"  " ".

 (IUPAC) –  ( ) 
 (International Union of Pure and Applied Chemistry).

,  1919 . 
. , 

, , 
.

 – , , 
.

 – .

 –   (" ") , 
 ( , ) 

.  –  – 
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 – 
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o  (n) – , ,
 (1, 2, 3, ...) 

;

o  (l)  –     (s-
, p- , d- , f- );

o  (ml) -  (s- , px-
, py .);

o  (ms) – ,  ( )
.
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,  ( ) .
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. :  – , 
+.

.

:  PV  =  nRT  –  
:  n  –  ;  P  –   ( );  V  –  
); T –  ( ); R – 

(0,0821  · /(  · K)). ,
3,   ( ).  

 R = 8,314  / K · .
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. ,  2NO + O2 = 2NO2: 
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. Sorbeo — ) — 
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 ( . Flottation) — 
, , 

, 
.

, . 
 —

.

 – , , 
,  –

.  
. 

.

 – , 
.

– , 

.  · -1.

 – , 
, 

, .



243

 1.

 ( )

3

3

, 

, , 
, 

, ,

 2.

 ( ) 1·10– 6

 (Å) 1·10– 10 M
 ( ) 1,01325·105

  (
.) 133,322 

,  ( ) 1,60219·10-19

 ( ) 4,1868 
 ( ) 4186,8 

 (D) 3,33·10-30
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 3.

3,00·108

h 6,63·10-34 .

1,60·10-19

N 6,02·1023 -1

F 9,65·104

R 8,31 /( . )

 4.

HCl  ( )
HClO

lO2

lO3

lO4

r

HCN  ( )
H2S  ( )
HSCN

2SO  ( )
H2SO4  ( )

2S2 3  ( )
HNO2  ( )
HNO3  ( )

3 3

3 O4  ( )
H2SiO3  ( )

2 3  ( )
H2C2O4  ( )
HCOOH  ( )

3  ( )
HMnO4
H2MnO4

2 rO4

2 r2O7
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 5

 (X) 1

1 : CRS Handbook of Chemistry and Physics,
87th Edition/Ed.D.R.Lide. – Taylor & Francis: CRC Press, 2007. – P.9.77.
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 6.

 25º

[Ag(NH3)2]+  Ag+ + 2NH3 9,3·10 8

[Ag(NO2)2]  Ag+ + 2NO2 1,8·10 3

[Ag(S2O3)2]3  Ag+ + 2S2O3
2  l.l·10 13

[Ag(CN)2]  Ag+ + 2CN l.l·10 21

[HgCl4]2  Hg2+ + 4Cl 8,5·10 16

[HgBr4]2  Hg2+ + 4Br 1,0·10 21

[Hg 4]2  Hg2+ + 4 1,5·10 30

[Hg(CN)4]2  Hg2+ + 4CN 4,0·10 42

[Cd(NH3)4]2+  Cd2+ + 4NH3 7,6·10 8

[Cd(CN)4]2  Cd2+ + 4CN 7,8·10 18

[Cu(NH3)4]2+  Cu2+ + 4NH3 2,1·10 13

[Cu(CN)4]3  Cu+ + 4CN 5,0·10 31

[Ni(NH3)6]2+  Ni2+ + 6NH3 1,9·10 9

 7.

 ( )
 25°

AgBr 6·10-13 u( )2 2,2·10-20

AgCl 1,8·10-10 CuS 6·10-36

Ag2CrO4 4·10-2 )2 1·10-8

Ag 1,1·10-18 F )3 3,8·10-38

Ag2S 6·10-50 FeS 5·10-18

Ag2SO4 2·10-5 HgS 1,6·10-52

3 5·10-9 MnS 2,5·10-10

BaCrO4 1,6·10-10 PbBr2 9,1·10-6

BaSO4 1,1·10-10 l2 2·10-5

CaCO3 5·10-9 PbCrO4 1,8·10-4

2O4 2·10-9 Pb 2 8,0·10-9

CaF2 4·10-11 PbS 1·10-27

CaSO4 4·10-4 PbSO4 1,6·10-8

C3(PO4)2 1·10-29 SrSO4 3,2·10-7

Cd(OH)2 2·10-14 Zn(OH)2 1·10-17

CdS 7,9·10-27 ZnS 1,6·10-24
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 8.

 ( ) 

 = – lg

 ( ) HNO2  4·10-4 3.4
 2.06·10-9 8.69

2SiO3 I . 2.20·10-10 9.66
 1.77·10-4 3.75

I  5.89·10-3 2.22
II  1.7·10-7 6.773As 4
III  2.95·10-12 11.53

2 O3 I  3.5 ·10-3 2.46
I  1.58·10-2 1.8 ( ) 2 3 II  5·10–6 5.3
I  1.0·10-7 7.0

2S II  1.2·10-15 14.92
2Se I  1.7·10-4 3.77

I  4.45·10-7 6.35 ( ) 2 II  5.6·10-11 10.35
 ( )  1.8·10-5 4.74

I  7.52·10-3 2.12
II  6.23·10-8 7.21) 3 O4
III  2.2·10-3 12.67

F  6.61·10-4 3.18
lO  5.01·10-8

 ( ) N  7.9·10-10 9.10

 9.

 (I) 
, Z , Z

 (I),

±1 ±2 ±3

 (I),

±1 ±2 ±3

0,001
0,002
0,005
0,01
0,02
0,05

0,98
0,97
0,95
0,92
0,90
0,84

0,78
0,74
0,66
0,60
0,53
0,50

0,73
0,66
0,55
0,47
0,37
0,21

0,1
0,2
0,3
0,4
0,5

0,81
0,80
0,81
0,82
0,84

0,44
0,41
0,42
0,45
0,50

0,16
0,14
0,14
0,17
0,21



248

 10.
 ( H0

ƒ,298)
 (S0

298)
H0

ƒ,298, S0
298,

/( ·° )

Ag  0 42,69
AgBr  – 99,16 107,1
AgCl  – 126,8 96,07
AgI  – 64,2 114,2
AgF  – 202,9 83,7
AgNO3  – 120,7 140,9
Ag2O  – 30,56 121,7
Al  0 28,35
Al2O3  – 1676 50,92
Al(OH)3  – 1275,7 71,1
AlCl3  – 697,4 167,0
Al2(SO4)3  – 3434,0 239,2
As  0 35,1
As2O3  – 656,8 107,1
As2O5  – 918,0 105,4
Au  0 47,65
AuF  – 74,3 96,4
AuF3  – 348,53 114,2
Au(OH)3  – 418,4 121,3
AuCl  – 118,4 146,4
B  0 5,87
B2O3  – 1264,0 53,85
B2H6  31,4 232,9
Ba  0 64,9`
BaO  – 558,1 70,3
BaCO3  – 1219 112,1
Be  0 9,54
BeO  – 598,7 14,10
BeCO3  – 981,57 199,4
Bi  0 56,9
BiCl3  – 270,7 356,9
BiCl3  – 379,1 189,5
Br2  30,92 245,35
HBr  – 36,23 198,48

 ( )  0 5,74
 ( )  1,897 2,38

C  716
CO  – 110,5 197,5
CO2  – 393,5 213,7
COCl2  – 223,0 289,2
CS2  115,3 237,8
CS2  87,8 151,0
CCl4  – 135,44 214,6
CH4  – 74,86 186,19
CHO  – 1207,0 88,7
C2H2  218,2 200,6
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2H4  52,25 219,0
2H6   – 84,6 229,1

C6H6  49,04 173,2
CH3OH  – 227,6 160,7

2H5OH  – 277,6 160,7
C6H12O6 ( )  – 1273,0 —
CH3COOH  – 484,9 159,8
Ca  0 41,62
CaO  – 635,5 39,7
CaF2  – 1214,0 68,87
CaCl2  – 785,8 113,8
CaC2  – 62,8 70,3
Ca3N2  – 431,8 104,6
Ca(OH)2  – 986,6 83,4
CaSO4  – 1424,0 106,7
CaSiO3  – 1579,0 87,45
Ca3(PO4)2  – 4125,0 240,9
CaCO3 ( )  – 1206,0 92,9
Cl2  0 223,0

2  76,6 266,2
2  105,0 257,0

2 7  251,0 —
HCl  – 92,30 186,7
HCl  – 167,5 55,2
HClO  – 116,4 129,7
Cr  0 23,76
Cr2O3  – 1141,0 81,1
Cr(CO)6  – 1075,62 359,4
Cs  0 84,35
Cs2O  – 317,6 123,8
CsOH  – 406,5 77,8
Cu  0 33,15
Cu  339,32 166,27
Cu2O  – 167,36 93,93
CuO  – 162 42,63
Cu(OH)2  – 444,3 79,50
CuF2  – 530,9 84,5
CuCl2  – 205,9 113,0
CuBr  – 141,42 142,34
CuI2  – 21,34 159,0
Cu2S  – 82,01 119,24
CuS  – 48,5 66,5

uSO4  – 771,1 133,3
CuSO4·5H2O  – 2279,4 300
Cu O3  – 594,96 87,9
Cu(NO3)2  – 307,11 193
(CuOH)2CO3  – 1051 211,6
Fe  0 27,15
FeO  – 264,8 60,75
Fe2O3  – 822,2 60,75
Fe3O4  – 1117,1 146,2
Fe(OH)2  – 561,7 88
Fe(OH)3  – 826,6 105
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FeS  – 100,4 60,29
FeS2 ( )  – 163,2 52,93
FeSO4  – 929,47 121,04
FeSO4·7H2O  – 3016 409,1
Fe2(SO4)3  – 2584 282,8
FeCl2  – 341,0 119,66
FeCl3  – 405,0 130,1
FeCO3  – 744,75 92,9
GeO  – 305,4 50,2
GeO2  539,74 52,30
H2  0 130,52
H2O  – 241,84 188,74
H2O  – 285,84 69,96
H2O2  – 187,36 105,86

N  135,0 113,1
F  – 270,7 178,7

Hg  0 76,1
HgCl2  – 230,12 144,35
Hg2Cl2  – 264,85 185,81
I2  0 116,73
I2  62,24 260,58
HI  25,94 206,33
HIO  – 158,9 24,32
K  0 64,35
K2O  – 361,5 87,0

OH  – 425,8 59,41
NO3  – 493,2 123,93

KNO2  – 370,28 117,17
K2SO4  – 1433,44 175,73
KHSO4  – 1158,1 187,89
KH  – 56,9 67,95
Li  0 28,03
Li2O  – 595,8 17,9
NiOH  – 487,8 42,81
Mg  0 32,55
MgO  – 601,24 26,94
Mg(OH)2  – 924,66 63,14
MgCO3  – 1096,21 65,69
MnSO4  – 1063,74 112,13
N2  0 191,5
N2O  81,55 220,0
NO  90,37 210,62
N2O3  83,3 307,0
NO2  33,89 240,45
N2O4  9,37 304,3
N2O5  – 42,7 178,0
NH3  – 46,19 192,5
NH4NO2  – 256,0 —
NH4NO3  – 365,4 151,0

N3  294,0 328,0
HNO3  – 173,0 156,16
NH4Cl  – 315,39 94,56
NH4OH  – 366,69 179,9
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Na  0 51,42
Na2O  – 430,6 71,1
NaOH  – 426,6 64,18
NaCl  – 410 72,36
Na2 O3  – 1129,0 136,0
Na2SO4  –1384,0 149,4
Na2SiO3  –1518,0 113,8
O2  0 205,03

3  142,3 238,8
F2  25,1 247,0

P ( )  – 18,41 22,8
2 3  – 820,0 175,5
2 5  – 1492,0 114,5

PCl3  – 277,0 311,7
PCl5  – 369,45 362,9
HPO3  – 82,4 150,6
H3PO4  – 1271,94 200,83
H3PO4  – 1279 110, 5
Pb  0 64,9
PbO  – 217,86 67,4
PbO2  – 276,86 76,44
PbCl  – 359,2 136,4
PbSO4  – 918,1 147,28
PbS  – 94,28 91,20
Rb  0 76,2
Rb2O  – 330,12 109,6
RbOH  -413,80 70,7
S ( )  0 31,88
SO2  – 296,9 248,1
SO3  – 395,2 256,23
H2S  – 20,15 205,64
H2S  – 39,33 122,2
H2SO4  – 811,3 156,9
H2Se  85,77 221,3
SiH4  34,7 204,6
SiO2 ( )  – 910,9 41,8
SiCl4  – 687,8 239,7
Sn ( )  0 51,55
Sn ( )  – 2,1 44,14
SnO  – 286,0 56,74
SnO2  – 580,8 52,34
SrO  – 590,4 54,4
SrCO3  – 1221,3 97,1
H2Te  154,39 234,3
Ti  0 30,6
TiCl4  – 804,2 252,4
TiO2  – 943,9 50,3
WO3  – 842,7 75,9
ZnO  – 350,6 43,6
ZnSO4  – 978,2 124,6
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 11.

 ( °))
°, 

Li+/Li -3,045
Rb+/Rb -2,925

+ -2,924
Cs+/Cs -2,923
Ra2+/Ra -2,916

2+ -2,905
Sr2+/Sr -2,888

2+ -2,864
Na+/Na -2,771

3+ -2,600
La3+/La -2,522
Y3+/Y -2,372
Mg2+/Mg -2,370
Sc3+/Sc -2,077
Be2+/Be -1,847
Al3+/Al -1,700
Ti3+/Ti -1,208
Mn2+/Mn -1,192
Cr2+/Cr -0,852
Zn2+/Zn -0,763
Ga3+/Ga -0,560
Fe2+/Fe -0,441
Cd2+/Cd -0,404
In3+/In -0,338
Co2+/Co -0,277
Ni2+/Ni -0,234
Sn2+/Sn -0,141
Pb2+/Pb -0,126
H+/H2 ±0,000
Sb(III)/Sb +0,240
Re(III)/Re +0,300
Bi(IV)/Bi +0,317
Cu2+/Cu +0,338
Hg2

2+/Hg +0,796
Ag+/Ag +0,799
Rh3+/Rh +0,800
Pd2+/Pd +0,915
Pt(II)/Pt +0,963
Au+/Au +1,691
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 12.

( °)
 25

°, B
Ag+ +  = Ag + 0,80

Ag
[Ag(CN)2]  +  = Ag + 2CN – 0,29

lO2  + 2H2O + 3  = l + 4O – 2,35
l + 3  = Al – 1,66

[Au(CN)2]  +  = u + 2CN – 0,61
Au3+ + 3  = u + 1,50u

u+ +  = u + 1,69
2+ + 2  = – 2,90

Bi Bi3+ + 3  = Bi + 0,21

r2 .) + 2  = 2 r + 1,07
r

r + + + 2  = r  + 2 + 1,34
2+ + 2  = – 2,87

Cd Cd2+ + 2  = Cd – 0,40

Cl2 + 2  = 2Cl + 1,36
2HClO + 2H+ + 2e = Cl2 + 2H2O + 1,63
ClO  + H2O + 2e = Cl  + 2OH + 0,88
ClO  + 6H+ + 6e = Cl  + 3H2O + 1,45
ClO  + 3H2O + 6e = Cl  + 6OH + 0,63
ClO  + 2H+ + 2e = ClO  + H2O + 1,189

Cl

2HCl ) + 2H + 2e = Cl2( ) + 2H2O + 1,594

Co2+ + 2  = Co – 0,28
Co3+ +  = Co2+ + 1,81
Cr3+ + 3  = Cr – 0,74
CrO4

2  + 4H2O + 3  = r( )3 + 5OH+ – 0,13Cr

Cr2O7
2  + 14H+ + 6  = 2 r3+ + 7 2 + 1,33

[Cu(CN)2]  +  = u + 2CN – 0,43
u2+ +  = u+ + 0,15
u2+ + 2  = u + 0,34

u

u+ +  = u + 0,52
F F2 + 2  = 2F + 2,87
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°, B
Fe2+ + 2  = Fe – 0,44
Fe3  + 3  = Fe – 0,04
[Fe(CN)6]3  +  = [F N)6]4 + 0,36Fe

Fe3+ +  = Fe2+ + 0,77
 + 2  = 2 – 2,25H

 + 2  =  0,000
Hg2

2+ + 2  = 2Hg + 0,79
Hg2  + 2  = Hg + 0,85Hg
2Hg2+ + 2  = Hg2 + 0,92
2 .) + 2  = 2 + 0,54

O3  + 12H  + 10  = 2 .) + 6 2 + 1,19
2HO  + 2H+ + 2  = 2 ( .) + 2H2O + 1,45
K+ +  = – 2,92

Li Li+ +  = Li – 3,04
Mg Mg2+ + 2  = Mg – 2,36

MnO4  +  = MnO2+ + 0,56
MnO4  + 2H2O + 3  = MnO2 + 40H+ + 0,60
MnO2 + 4H+ + 2  = Mn2+ + 2 2 + 1,23Mn

MnO4 + 8H+ + 5  = Mn2  + 4 2 + 1,51
Na Na+ +  = Na – 2,71
Ni Ni2+ + 2  = Ni – 0,25

O2 + 2H2O + 4  = 4OH+ + 0,40
O2 + 2H+ + 2  = H2O2 + 0,68
O2 + 4H+ + 4  = 2H2O + 1,23

O

2 2 + 2H+ + 2  = 2 2 + 1,78
P 3 O4 + 2 + + 2  = 3 3 + 2 – 0,28

b2  + 2  = b – 0,13
b

b4+ + 2  = b2+ + 1,69
Pt Pt2+ + 2  = Pt + 1,19

S + 2  + 2  = 2S + 0,17
S

S2O8
2  + 2  = 2SO4

2 + 2,01
Se Se + 2H+ + 2  = H2Se – 0,40

Sn2+ + 2  = Sn – 0,14
Sn

Sn4+ + 2  = Sn2+ + 0,15
 + 2H+ + 2  = 2 – 0,72

ZnO2
2  + 2 2  + 2  = Zn + 4OH – 1,22Zn Zn2+ + 2  = Zn – 0,76
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